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KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER
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. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

Before attempting the question paper, kindly check that this booklet
has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

The OMR Answer Sheet consists of three copies, the original copy, the
commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR Answer
Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet should be
filled carefully. Change of OMR Answer Sheet is not permitted.

Do not forget to write Roll Number on the top of this Question
Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

Candidate has to fill one option compulsory out of five options
given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option ). Extra five minutes will be given to
mark 5" option, No marks will awarded against the 5" option as it
indicates that the candidate as not attempted that question.
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Which of the following cannot be the
probability of an event ?

(A) 0.4 (B) 4%

(C) 0.04% (D) 4

(E) Not attempted

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at per capita income

(B) Gross Domestic Product (GDP)
evaluated at current market prices

(C) Gross Domestic Product (GDP)
evaluated at constant market prices

(D) None of the above
(E) Not attempted

In a certain code language, “in the end”
means “moh fjk omt”, “end is near” means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for
“near” ?
(A) moh
(C) bod
(E) Not attempted

(B) epy
(D) azh

What is the rank of Haryana among
Indian States in terms of software export ?

(A) First (B) Third
(C) Second (D) Fourth
(E) Not attempted

When was the first General Election of
India held ?

(A) 1948 — 49

(B) 1951 —52

(C) 1956 — 57

(D) None of the above

(E) Not attempted
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f=afafga 9 9 - Tt gear 6H
TRIehdT T&1 Bl Hehel ?

(A) 0.4 (B) 4%
(C) 0.04% (D) 4
(E) ITvmfra

ATHET Hehel Tl 3Tg (S.Ehdt.) B

(A) ST =afed 3T 9T Fearend fepam T
Hohel Tle] 3cTg (Sf1.€1.dt.)

(B) FAHM SR el T oo Tkl
T Fehel TRl 3cdTe (Si.E1d.)

(C) TR STSIR HT TR qeaTeh Teohal T
gehel Te] 3carg (S.h.)

(D) SHIH | & h1E T

(E) TR

fepet e T H “in the end” T 37 “moh
fik omt” % “end is near’ %1 31 “azh moh
bod” % 3T “in near future” <1 31 “omt

azh epy”’ ® | “near’ & foTu % R g ?

(A) moh (B) epy

(C) bod (D) azh

(E) 3Tomfya

gigear gt & amet ¥ ghemm 1
IT T o o S R 7

(A) T& (B) T

(C) g&u (D) =

(E) 3Tvmfya

HIA <hl 98T 3TH AT <hel AT AT 7
(A) 1948 — 49

(B) 1951 — 52
(C) 1956 — 57

(D) 37 | & HrE T
(E) 3r=nfEa



10.

The signs of abscissa and ordinate
of a point in the second quadrant are
respectively

(A) (= +) (B) (+ -)

(C) (+ +) (D) (=-)
(E) Not attempted

If sin®0 — cos®0 = 0, then @ is
(A) 0° (B) 45°
(C) 30° (D) 90°
(E) Not attempted

What type of signal does Integrated
Services Digital Network (ISDN) use ?

(A) Analog
(B
(C
(D
(E

Digital
Hybrid

)
)
) None of the above
) Not attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English

Dictionary.
1. Prestige
2. Pristine
3. Prescribe
4. Prepaid
5. Premium

(A) 4,5,3,2,1
(C) 5,4,3,1,2
(E) Not attempted

(B) 5,3,4,1,2
(D) 4,5,3,1,2

Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

(A) Bhakra Canal

(B) Bhiwani Canal
(C) Jawahar Lal Canal
(D) Gurugram Canal
(E) Not attempted
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(A) (= +) (B) (+ -)
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(A) 0° (B) 45°

(C) 30° (D) 90°

(E) 3Ty
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Pristine
Prescribe
Prepaid
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(A) 4,5,3,2,1

(C) 5,4,3,1,2
(E) ITvmfra
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(B) 5,3,4,1,2
(D) 4,5,3,1,2

(D) TeI™ &l
(E) 3r=nfEa



11.

12.

13.

14.

Select the word from the given alternatives
which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) NATION (B) STATION
(C) VERSION (D) REASON

(E) Not attempted

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Vakil — Chief Minister
(B) Diwan-i-Ali — In-charge of
Charities

(C) Diwan -
(D) Khan-i-Saman
(E) Not attempted

Revenue Minister
Home Minister

What is the name of the woolen muffler worn

around the neck by men in Haryana ?

(A) Guliband

(B) Kamari

(C) Mirjai

(D) Chaddar
)

(E) Not attempted

Which of the following is not true ?

2 5 5 2
A) ———=—-=

3 4 4 3
g 2,552
B) 37372373
o 2,5.5.2
© 3737373

2 5 2 4

_+_=_x_
(B) 3 4 35

(E) Not attempted
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15.

16.

17.

18.

Perfetti Van Melle India is located in

which district of Haryana ?
(A) Faridabad

(B) Ambala

(C) Gurugram
(D)

(E)

Sonipat
Not attempted

Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) By the President’s order
(B) By the Prime Minister’'s consent

(C) According to the procedure
established by law

(D) None of the above
(E) Not attempted

The meaning of Phulkari is
(A) A large part of villages of Haryana
(B) An art of making clay pots

D
(E

)
(C) An art of shawl making
(D) None of the above

)

Not attempted

Complete the following analogy.

All - /-\ ||V | ?
NI
VAN

(A)

(©)

(E) Not attempted

15.

16.

17.

18.
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(A) Trgufd = e @

(B) YU bl HEuld o

(C) T g T Ffsha & AR
(D) 3IugeHd H H g TE

(E) 3anfEa

BoThil T 37 7
(A) ERATUM & T 1 Uk el T
(B) Tt & & s Y Th el




19.

20.

21.

22,

23.

What does DSS stand for ?
(A) Digital Satellite Service
(B
(C
(D
(E

) Direct Satellite System
) Digital Satellite System
) Direct Service Satellite
) Not attempted

Ifa:b=5:7andb:c=28:09, then what
isthe ratioofa:c?

(A) 35:54
(C) 45:683
(E) Not attempted

(B) 40: 63
(D) 40: 54

The National Voters’ Day is observed on
(A) 25" November

(B) 26™ November

(C) 30" December

(D)

(E)

25" January
Not attempted

What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?

(A) Anant

(B) Aarsi

(C) Kangni
(D)
(E)

Ponche

Not attempted

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Gujarat

(B) Uttar Pradesh
C) Odisha

D) Rajasthan
(E)

(
(

Not attempted

19.

20.
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22,

23.
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.uE. . w1 w7 A B 7
(A) Tefsree Seerse afda
(B) SFE TeaTse faeeH
(C) TefSteat Geemse fawem
(D) SR Gfdw ddarge

(E) ITvmfra

ZI'&::a:b:S:?EFIE]Tb:c=8:9%,?ﬁ
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(A) 35:54 (B) 40:63

(C) 45:63 (D) 40:54

(E) STwmtEa

TS HAGTAT feard HHAm STt 3
(A) 25 Fd&

(B) 26 Fd&
(C) 30 fedar

(D) 25 SHe

(E) T=nfEa

g § wigensti g <ifed 819 < 33
T Ugd S areft S & et ISt 1 am
w7 ?

(A) ¥

(B) TRt

(C) I

(D) @il

(E) 3manfEa

FrafaRea o @ S-o1 3raisda iar
TEICHd 2024 T YR TT o7 ?
(A) TSI

(B) ST Jem

C) nErm

D)

(E)
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24.

25.

26.

27.

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Nestle India

(B) Yakult Danone India Private Limited
(C) Glaxo Smith Kline

(D) Ranbaxy

(E) Not attempted

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1967 (B) 1985

(C) 1992 (D) 1949

(E) Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) One (B) Two

(C) Three (D) None of these
(E) Not attempted

24.

25.

26.

27.
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0O O

O

(E) 3=nfEa
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(A) F&1 sfeam
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(D) TSt
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28.

29.

30.

31.

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.
If the total distance covered is 370 km,
then what is the initial speed of train ?

(A) 80 km/hr (B) 100 km/hr
(C) 90 km/hr (D) 60 km/hr
(E) Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2017 (B) 2016

(C) 2015 (D) 2018

(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?

(A) Gram Panchayat

(B) Panchayat Samiti

(C) Zila Parishad

(D) Gram Sabha

(E) Not attempted

Consider the following statements about
Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

(A) Onlyiandii

(B) Only iii and iv

(C) Only i

(D) All of the above

(E) Not attempted
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32.

33.

34.

Badhkal Lake is located in which district

of Haryana ?
(A) Hisar (B) Faridabad
(C) Kurukshetra (D) Panchkula

(E) Not attempted

Choose the figure from the given alternatives
in which the following figure is embedded.

BY
>

&

(E) Not attempted

(A)

Be

(©) (D)

Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) None of the above
(E) Not attempted

32.
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35.

36.

37.

38.

39.

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Khadar (B) Kalar
(C) Bangar (D) Banjar
(E) Not attempted

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age
of B.

(A) 32 years
(C) 24 years
(E) Not attempted

(B) 46 years
(D) 26 years

What are data chunks transmitted over
the Internet called ?

(A) Frames (B) Packets

(C) Segments (D) Bytes

(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Nath

(B) Borla

(C) Koka

(D) None of the above

(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

_bc_ca_aba_c_ca

(A) abcbb
(C) baaba
(E) Not attempted

(B) bbbcc
(D) abbcc

-10-

35.

36.

37.

38.

39.

CE1G -25

TR -ETeR A< O] bl & W | 91T =T
2, ST&l a9l < HiEq | STeued 7 8 o
=T & i HEl Al &

(A) @I (B) el
(C) SR (D) SR
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(A) 3299 (B) 4699
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(E) 3Tomfya
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(A) ®H (B) Uhe

(C) |THE (D) STSH

(E) 3romfda
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(A) T

(B) Sen

(C) i1
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_bc_ca_aba_c_ca

(A) abcbb (B) bbbcc
(C) baaba (D) abbcc
(E) 3m=nfEa



40.

41.

42,

43.

44,

If ‘A’means ‘+', ‘B’ means ‘—, ‘C’ means ‘+,
and ‘D’ means ‘x’, then the value of
18A12C6D2BS5 is
(A) 15

(C) 17

(E) Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Harish Kataria

(B) Pandit Lakhmi Chand

(C) Baje Bhagat

(D) Ali Baksh

(E) Not attempted

An article is marked at ¥ 3,000 and is sold
at a 40% discount. If the shopkeeper incurs
a 10% loss on the cost price, then what
was the original cost price of the article ?
(A) 2,000 (B) ¥2,100

(C) X 1,800 (D) 2,250

(E) Not attempted

)
)
)
)

The Chalukyan style of architecture is the
unique synthesis of which of the following
styles of architecture ?

(A) Dravida and Nagara styles
(B
(C
(D
(E

Dravida and Kalinga styles
Nagara and Hoysala styles
None of the above

)
)
)
) Not attempted

What does the computer do with the input
received ?

(A) It deletes the data

(B) It processes the input and generates
output

(C) It sends the data to another computer
(D) None of the above
(E) Not attempted
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18A12C6D2B5 T AF &
(A) 15 (B) 25
(C) 17 (D) 45
(E) 3manfEa

BRI & T g9’ & A H A
ART B ?

(A) & et

(B) Ufsa ratt =g

(C) ST WiTd

(D) 3Tl &

(E) T9=mfa

Teh 9] W Z 3,000 3ifhd B 3T I8 40%
1 e T = AT & | ATG GHMGR
T oA T 10% i M0 Bt B, o 9w

ST AR AT oI 1 o7 7

(A) % 2,000 (B) 2,100
(C) T 1,800 (D) % 2,250
(E) 3=nfEa

T aregehett reft fferfaa & @ form

ATEIhAT et T fgef dvero 8 7

(A) Zfag 3 AR Seft

(B) gfars 31 e e

(C) TR 3R g et

(D) ST # H Ig T

(E) 3Tomfea

TS 39 o HTY SR RT HLAT & 7

(A) T 220 H! BT &

(B) I§ TAYC ! THE HIdT & 3TN 3T3TYE
S LT B

(C) ¥8 T I T HIL T A 3

(D) STH | & Hre e

(E) 3romfya




45.

46.

47.

48.

49.

How many times in a day, are the hands
of a clock in straight line but opposite
direction ?
(A) 22
(C) 20 (D) 48
(E) Not attempted

Which number will come in the place of
question mark (?) in the following number
series ?

3,5,9, 7, 33,65
(A) 13 (B) 15
(C) 17 (D) 19

)
(E) Not attempted

What is the significance of the ‘Peeliya’
Odhani in Haryana’s customs ?

(A) Worn during marriage ceremonies
(B) Given to a bride by her in-laws

(C) Sent by parents to their daughter
after the birth of a male child

(D) Worn during harvest festivals

(E) Not attempted

Which of the following is not a storage

device ?

(A) Compact Disk (CD)

(B) Solid-State Disk (SSD)

(C) Memory card

(D) Monitor
)

(E) Not attempted

The value of (0.3)° is
(A) 0.27 (B) 27

(C) 0.027 (D) 0.0027
(E) Not attempted
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45.

46.

47.

48.

49.

CE1G-25
e feT o fopaHt s gl <t gEat ue weft
@t ° afer faqdia fesmatt o gt € 2
(A) 22 (B) 24
(C) 20 (D) 48
(E) 3=nfEa
frfafaa @@ ear § ¥ fog (?) &
M T HiH-H F&I1 3R ?
3,5,9,7, 33,65
(A) 13 (B) 15
(C) 17 (D) 19
(E) 3Ty

g & farms 4 difern’ snedt =1 Fn

e ® 7

(A) ToraTe FHIIET < SR Tl ST @

(B) Goad I IHeh TYUA Al o G
fearn S @

(C) T A & A & g dt Sl 39h
Trar-fuar gro 9 A 2

(D) HEA HTE o BN o I T&T
ST &

(E) 3rnfEa

fr=fafea @ 9 - RS fearw
BRI

(A) HrFe feeh (H1E)

(B) Hifere-= fep (W@.Td.E.)
(C) THRY T

(D) Hifex

(E) 3r=nfEa

(B) 27
(D) 0.0027



o

50.

51.

52.

53.

Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A) Zohrabai Ambalewali
(B) Lata Mangeshkar
(C) Noor Jahan

(D) Kishori Amonkar
(E) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 56
B
C
D
(E

) 68
(C) 45
(D) 54
) Not attempted

What is the average of first 40 natural

numbers ?
(A) 195 (B) 20
(C) 20.5 (D) 40

(E) Not attempted

What is the relationship between HCF
and LCM of two numbers aand b ?

(A) HCF +LCM =a + b
(B) HCF x LCM = a + b
(C) HCF x LCM =ax b
(D)
(E)

None of the above

Not attempted
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50.

51.

52.

53.

CE1G -25

freferfiea gfwmret TRl ®§ & % 1930
3R 1940 % crehi § &t fommn & et
% fore STt et € 7

(A) STEUETS SETATAT

(B) T TR

Q1 3Tehl <l Teh T&AT o 3Tehl 1 T 11 § |
Ife 37hl I 3¢ fopam SU, @ SRl
&I G 9% & 9 AfS B | I
&I T8 ?

(A) 56

TH 40 TTh{deh HEAT3T 1 SEq =
& 7
(A) 19.5

(C) 20.5
(E) 3=nfEa

(B) 20
(D) 40

QeI a 3 b 9.9.9. 3R A.49.9.
% ol w1 G99y B ?

(A) 5.9.9. + 9.9.9. =a+b
(B) .9.U. x.E.9. =a+b
(C) HE.9. x1.9.9. =axb
(D) SWfe T & I3 TE

(E) ITvmfra



54.

55.

56.

57.

Which of the following famous battle was
fought in Sirsa district of Haryana ?

(A) Battle of Thanesar

(B
(C
(D
(E

) Second Anglo-Sikh war
) Battle of Gujarat

) Battle of Chormar

) Not attempted

Which of the following are the primary

components of a computer system ?

(A) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(B) Operating System, Software,
Hardware and Internet

(C) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(D) None of the above

(E) Not attempted

Which computer was built at Cambridge

University in 1946 ?

(A) Universal Automatic Calculator
(UNIVAC) 1

(B) Electronic Delay Storage Automatic
Calculator (EDSAC)

(C) 1BM 701

(D) PDP-8

(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?

(A) Sunita Williams
(B
(C
(D
(E

) Santosh Yadav
) Manushi Chhillar
) Kalpana Chawla
)

Not attempted

-14-

54.

55.

56.

57.

CE1G -25

g & fawen e # ffafaa @ 9

H-T1 g Ig ST AT AT ?

(A) IHER HT g

(B) Teerr sriet- e 35

(C) ToRId =T g5

(D) IHR T g

(E) TRt

frfefaa & 9 ®F-9 Hege fawen &

yrefieh Teh & ?

(A) T TRt gie (Fdhg.), 7,
TG 3T FA8E TR

(B) IATRfET vy, Afwed=R, g™ 3T
ErACTS

(C) Heet wfm gHe (. h.7,), i,
Y2 /3M3eYe fearsm 3t wRd
[ESIE

(D) SujHd H § 1S e

(E) 3mvfya

1946 T Ffts favafaame™ oS-

TR ST T AT 7

(A) g 3Frmfes Sheeict (UNIVAC) 1

(B) SoIRIeh oot WS 3rfamfes
Fegpeted (EDSAC)

(C) 1BM 701

(D) PDP-8

(E) 3rnfEa

frafafga o & @9 s@fe 6 aEn wE
aeft gell AR gt it afgen oft 3
TSFeRT S BRATOT o AT § g3 AT 7
(A) grar faferrg
(B) Iy Ared
(C) At feert
(D)

)

D) <heOdT =TT

(E) 3T=miyd



o

58.

59.

60.

61.

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

TR
2 &

e

(B)

(D)

(E) Not attempted

The Sheetala Mata Fair is organized in
which district of Haryana ?

(A) Gurugram
(B) Jhajjar
(C) Ambala
(D)
)

(E

Karnal

Not attempted

Angles of a quadrilateral are in the ratio
3:4:4:7. Find the smallest angle.

Which instrument is used to measure the

wind velocity ?

(A) Odometer

(B) Thermometer

(C) Anemometer

(D)
)

(E

None of the above

Not attempted
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58.

59.

60.

61.

CE1G -25

o § € S 3Tl & ded i ferehedi §
& T BIA-H Il gu w7

TR
?

e

(D)

ghamn & fre e § sfaen T e
TR AR 7

(A) eI

(B) ISR
(C) 3
(D)
)

CCICl]
HEATA

(E) 3Tsfed

Teh TGHS o IV I 3T 3:4:4:7
2 | TEH Bl IV ATG HIN |

(A) 20°

(B) 60°

(C) 80°
(D) 140°
(E) 3Tsfed

Y o A o 7T foRE ITehtuT T ST

fopan ST B 7
(A) 3TrEnfie



o

62.

63.

64.

Anand and Deepak started a business
investing ¥ 22,500 and X 35,000
respectively. Out of a total profit of

% 13,800, Deepak’s share is

(A) 5,400 (B) ¥7,200
(C) ¥8,400 (D) ¥ 9,600
(E) Not attempted

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

(A) 4 days
(B) 7 days
(C) 6 days
(D) 8 days
(E) Not attempted

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Only 2

(C) Both1and 2

(D) None of the above

)
)
)
(E) Not attempted
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62.

63.

64.

CE1G -25

e 3T E9eh 3 HA: T 22,500 R

% 35,000 T eIt ek @ IE oA |
313,800 % HoT oY § & Tuh ol fgen
fepamm &I ?

(A) 5,400 (B) 7,200

(C) ¥ 8,400 (D) % 9,600

(E) ITvmfra

Ifg 6 T8Y 9 8 g fohell I &1 10 fem
T o Tohd 3 AT 26 TEY T 48 TTgeh 34T
%l I 2 feT U+ Thd &, O 15 oY
3 20 TSh 3T B hl B H TeheT
g & 7

(A) 4T

(B) 7 fed

(C) 6T

(D) 8fed

(E) ITvmfra

STeTaTg o arfientor o o) H frefaifaa
YA T femm =t |

1. STy 1 G99 SATTH Y 8 FETA
foper ST aren affeRtor <. iU R

foepféa fopam o Sgvas Soery
iRt FISHT 2 |
2. &ft. iU 3 et 3R Sy o foawo
o+ s "fIse qeY 6 ugae 6 |
Sy A -G/ YA W /2 7
(A) Haet 1
(B) haet 2
(C) 1 3R 2gHl
)
)

(D) 39 H & IS T
(E) 3rnfEa



o

65. Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 = 8 * 64 * 48 = 500
(A) = — x, + (B) =+, +, %, —

(C) %, +,+, — (D) x, +,—, +

(E) Not attempted

66. Where is Chokhi Dhani situated in
Haryana ?

(A) Panipat

(B) Karnal

C) Sonipat
)
)

—_~ o~

D
(E

Kurukshetra
Not attempted

67. Consider the following statements about
Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.
ii. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.
iii. Through 86™ Constitutional
Amendment, Article 21A is inserted
in the Constitution.

. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are

correct ?

(A) Onlyiandii

(B) Only i, ii and iii

C) Only iii and iv
) All of the above
) Not attempted

(
(D
(E

17-
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65. U fo@i &1 @&l 569 gAY S+ g
1 TfaerTiud st T GHieRoT bl TEl &1
g |
FUIRIUT : 216 = 6 + 8 * 64 * 48 = 500
(A) = — %, + (B) =, +, x,—
(C) %, +,+,— (D) x, +,—, +
(E) 3manfEa

66. N ¥ el @l et fua g v

T Gige™ & 9) § fefafad see
T formm &t |
i. 3TTTRE 48 TSAT &l .36k 37
Fifrar e sge e 1 aferera
AT B |
ii. WG <h! THe 9 2006 H 86 df
TrfayTfres dene e weqa
R |
iii. 869 AT FRMNE & HIH o
Tfgam ¥ 3Tese 21A e e
TR
iv. frem 1 TR 6 & 14 99 i 3y *
sl & fore ueh difaes rfusr 2 |
I eU T HoHT H H HH T A TS 7
(A) Had i 3T i
(B) wharet i, ii 3T jii
(C) whae i 3T iv
)
)

67.

(D) 3w @l
(E) 3rnfEa



68.

69.

70.

71.

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.
What is the total marks for the exam ?

(A) 300 (B) 400

(C) 500 (D) 600

(E) Not attempted

Which of the following equation
represents a straight line ?

(A) X +y? =25
(B) 2x+3y =6
C) y=x*+4
(D)

(E)

None of the above

Not attempted

The seasonal river Markanda originates

from which area of Haryana ?
(A) Aravali Hills

(B) Shivalik Hills

(C) Rajasthan Plateau
(D)
(E)

Yamunanagar Forest

Not attempted

Where is Maharana Pratap Horticulture

University located in Haryana ?
(A)
(B) Jhajjar
C)
)
)

Sirsa

(C) Sonipat
(D
(E

Karnal

Not attempted
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68.

69.

70.

71.
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fopet wlie o W IIER 20% 37k I
% % F1¢ 30 IR H ST & A g,
SR GHU IFHIGAR S 32% 37eh T el
2, 39 AT 37l § 42 37k 3o firerd 2 |
wileTT ot feh 37Thi T B 7

(A) 300 (B) 400
(C) 500 (D) 600
(E) 3mwanfEa

Fr=fafea @ 9 SH-ar Trfieor wes Hieh
@1 1 Ifaffeg ST 8 ?

(A) X +y?=25

(B) 2x + 3y =6

(C) y=x"+4

(D) 3T # § s T

(E) 3manfEa

g & fore & & HgHt 7E) Arehet
Freperdt & 7
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72.

73.

74.

75.

Match the following.

National Parks/ States
Wildlife Sanctuaries
a. Corbett National

Park i. West Bengal
b. Sunderbans

National Park ii. Uttarakhand
c. Bandhavgarh

National Park iii. Rajasthan

d. Sariska Wildlife

Sanctuaries iv. Madhya Pradesh
a b c d
(A) iii iv ii i
(B) ii i iv iii
(C) i i iv ii
(D) iv i iii ii
(E) Not attempted

Tangri river is a tributary of which river ?
(A) Yamuna

(B
(C
(D
(E

Ghaggar
Ganga
Markanda

)
)
)
) Not attempted

The common difference of the Arithmetic

.1 1-P 1-2P .
Progression —, ——, ——— ... is
P P P1
(A) —1 B 5
y
(©) 1 (D

(E) Not attempted

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Shivalik Green Wall Project

(B) Chandigarh Green Belt Project
(
(D
(E

)
)
C) Aravali Green Wall Project
) Haryana Forest Rebuild Project
)

Not attempted
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72.

73.

74.

75.
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freaferfiea =t gofera Hifsm |
T A /TS T
AT
a. hiee T 3T i. afgem STe
b. et TS ITH ii. ITEE
c. WYUATG U IAH i, TEIH

d. TR T2l SN iv. 989 Teul
a b c d
i v i i
i i v il

2 7<) fopm 9} Y U wEEeS A8 B 2
(A) 5T

(B) TR

(C) T

(D) HREHUST

(E) e

gur o L 1P 1-2P o g
sie g PP’ P

(A) -1

(C) 1
(E) 3rfEa

gimn < fr=feRaa 4 @ s afasen
FAfSheRT & U I ot @ AR B 7

(A) Rraferes 1fiw afer ufesmn
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English Language

Direction (Q. No. 76 and 77) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora

(76)

the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(77) tourists visit these places every

year. One can stay in the guest house.

76.

77.

78.

79.

80.

(A) is (B) was
(C) are (D) were
(E) Not attempted

(A) for (B) from
(C) of (D) at

(E) Not attempted

Choose the correctly spelt word from the
following alternatives.

(A) permanant (B) permenent
(C) parmanent (D) permanent
(E) Not attempted

Give one word substitute for the following
expression.

A period of ten years.

(A) Decade (B) Century
(C) Pioneer (D) Cavalry
(E) Not attempted

Choose the correct synonym of the
following word from the alternatives given
below it.

Ultimate
(A) Beginning (B) Famous
(C) Final (D) Victory

(E) Not attempted

-20-

81.

82.

83.

84.

85.

Fill in the blank with the correct

alternative.

I for my pen. Have you seen it ?
(A) will look (B) looking

(C) look (D) am looking

(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming
(A) Mild (B) Flowering
(C) Quite (D) Fading

(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

To drive home

(A) To find one’s roots

(B) To return to place of rest
(C) Back to original position
(D) To emphasise

(E) Not attempted

Fill in the blank by choosing correct
alternative from the alternatives given
below it.

He was born 1945.
(A) on (B) at
(C) in (D) for

(E) Not attempted

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.

(A) is raining

(B) have been raining

(C) has been raining

(D) was raining

(E) Not attempted



o

86.

87.

88.

89.

90.

&=

g + 3ATd = @Wrra’ fohd Gy

‘STEl hIs 7 T&dl & 3 R Hed & ?
(A) e
(B)

r%é’l”agﬁaaﬁamm% ?
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o1.

92.

93.

94.

CE1G -25

“qH T THTRL Tgd 1 STawd T &
a7 I8 G fohE ShieT T 3T @ 7

(A) TUT sTcrehet

T ¥ TE 3eg I gHT |
(A) Aferor

‘SRR T SR Welt ' 39 SAIhIfa i Tal
3 3

(A) Tt S37 | B T & 3BT 1 |
(B) TcI&T Sl THTUT <l SATavTehal &1 |
(C) 3T IS 14 BT |

(D) ufem & & 3= %t firetan & |
(E) 3manfEa

S wree HHT AT T I foRivar A &,
3¢ 91 HEd @ ?

(A) D

(B) Tsram fergreor

GREZL

(D) ferrwor

(E) 3manfEa




o

95. Tshal o 519 ¥4 § 980 999 U8l H1 %

96.

97.

TuT & T ¢ 81, 3H 91 had & 7
(A) 370 Hret

(B) ot Schret

(C) wiferer yaehret

(D) ¥q-2qHG T

(E) TSR

‘STEATAY Weg o TEl 3 1 AT |
(A) BTl fd Tg-gfe

(B) TR Tt a1 Sl b1 oot
(C) ITA-Te

(D) ¥Tg | qeh Tg el

(E) ITvmfra

‘3T U YR U1 GaTa T et 37
T |

(A) 3T BT T T |

(B) SI&MT &M |

(C) | femam =T |

(D) 3 |9 | 7 M |

(E) 3=nfEa

98.

99.

100.

CE1G -25

o o o

ffeiad sregl & & €Y 1 yatHar=h
368 FHT |

(A) IR

(B) @&t

(C) Xt

(D) =9
(E) 3m=nfaa

IRa § ‘Tt feam’ e aamn Sman 8 ¢
(A) 14 Toasr

(B) 15 3ferest

(C) 26 SHa

(D) 14 4=

(E) 3nfaa

T, 3R, e, 1, 5 anfe weg fopm
e o Jiid 3T & ?

(A) feremafesiees

(B) HwaASIHH

(OREEEIPED

(D) Torarm ferreor

(E) 3m=nfEa
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SPACE FOR ROUGH WORK
T 1 < foTu Tam=
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9.

R R R A A A A A A A A A A A N A A A A A A A A A

13.

14.

15.

16.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother's
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the
examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.

20.

avreff ol oI U TeRT-us o B, o W g € | i wen vfA
B SN T -G B, W I W e g =T Si&i B foran gan
R 3Eh AN BIA o T Th Ue-T, S Foh grsferm emgdg,
el UNET-T, MR HlS, TdE 37fe T & S Th  Tefl-shg T
AT FAER B | 3 sl i e & i Iatd T8 & Sl |

Sl 1 Femg § S 2 T 3 glftea S 6 3N i umLam.
I Ok W 3neeff st AW, T <hT T, HIAT <1 T, TR g 6
e, e s faf, T, Tet wg%wawasﬁw%mq
Feereort bt fora & Fopell o SR 1 e T B W aref] W
@Wﬁgﬁ%%@m@%lg&ﬂ%ﬁmmm
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Candidate’s Roll Number / 31%ff 1 T/t T=R

Time Allowed : 1 Hour 45 Minutes
Uy ; 1 9T 45 fiHe

TEST CODE : CE1G - 25

Total Questions : 100
% TRF ¢ 100

T Yiereht S

Question Booklet Number

Maximum Marks : 100
JfereRdd 37 : 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER

T UY-UH i g1 e § U Ul HfeARad (Hagn ol ue

. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

. Before attempting the question paper, kindly check that this booklet

has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

. The OMR Answer Sheet consists of three copies, the original copy, the

commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

. Please ensure that the Question Booklet Number and OMR Answer

Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

. Allthe necessary particulars on the OMR Answer Sheet should be

filled carefully. Change of OMR Answer Sheet is not permitted.

. Do not forget to write Roll Number on the top of this Question

Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

. Candidate has to fill one option compulsory out of five options

given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option ). Extra five minutes will be given to
mark 5" option, No marks will awarded against the 5" option as it
indicates that the candidate as not attempted that question.

1.

2.

39 W gfeqen § 100 Y 2 | T 9 % foTT 1 37 B |

TRA-T I FA B Y e FH i o o IR § B 24 78
2 3 30,19, 3N, IW I3 h dF Ufeai & | =i 1 gerg &
Sreft 2 R wdienm Ry g & ot e % st giifted o e
ST T GIETehT 3T 3T TH.3R. IW 7= & aeft T3 37=8t a@
B gu ¥ 3N e feeht i feret oft wehm & aafa T wEh R

ST.TH.3TR. IT T hl A wfaat &, gt fd, i ufq g sweff
i | 3% TCRT-3TeRT 7 L | 3.UH.3IR. IW T H dH- gfc= 3§
TieT! <l ST - 3T Shiell 7 o | el Tlien FHIe g W 3T, 3R,
IR T 1 TR 1 orer R fae widees @l Oiw § | wies
g areeff wf Ster e 3% ¢ & SRt | areeff st Wy we
qfEeh! =i o W1 Hehdl & |

AT GHTET S TR To- iRt S8 T ST.TH. AR, IW T
S TEAT Toh-THH BT =feT | TRt oft wehm <t ferier o St
Irreff ol e T Yo YREehT 31T 3. TH. 3T, ST U SeeraT ot
fgu | wdie IR & % uie fiee v e frmrdl W
fepam ST |

T ATawah e Araeigee 31,09, 3. 3T 0= § 9 € |
3. TR, I T % I¢d h AN Tal 2 |

T VI YfSrehT 3T 3. TH. 3T, I TAeh oh HUL STOAT Jed T forge 1
el | Te-gfETeT 3 37103, S| 9 & fohedt off 758 &1 7
T wE AR T HIS |

Frveff o fer U ute et § @ U fashew v sifEnd @ | afe
Frweff @l ST T T B, @ 38 uiEdl fasmeu (fasew ©) won
B0 | Ot feorhed Wi o fore uie fire stfafie few smdn | wieat
ferehed W WU 1S 37k TEI feu SN ifs gHeh Ig Teba fietar @
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8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
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Which number will come in the place of
question mark (?) in the following number
series ?

3,59, 7 33,65
(A) 15 (B) 13
(C) 19 (D) 17

(E) Not attempted

Which of the following equation
represents a straight line ?

(A) 2x+3y=6

B) y= X2 + 4

(C) X*+y*=25

(D) None of the above
(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Borla

(B) Koka

(C) Nath

(D) None of the above

(E) Not attempted

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at current market prices

(B) Gross Domestic Product (GDP)
evaluated at constant market prices

(C) Gross Domestic Product (GDP)
evaluated at per capita income

(D) None of the above
(E) Not attempted

Tangri river is a tributary of which river ?
(A) Ghaggar

(C) Markanda

(E) Not attempted

(B) Yamuna
(D) Ganga

CE1G -25

Frfafaa @@ Jear § 74 fos (?) &
TIH W - G&IT IR ?
3,5,9,7?, 33,65

(A) 15 (B) 1

(C) 19 (D) 17

(E) 3m=nfEa

Frfafea @ 9 sH-a1 Tt s @i
T 1 gfafRice o g ?

(A) 2x + 3y =6

(B) y=x*+4

(C) X*+y*=25

(D) U H H g T

(E) 3r=nfEa

FiETUE geEAl g U S aTel i -|

RN AT Th HiH sl el § I

AR T & 41 BT B 7

(A) ST

(B) HIHT

(C) 7¥

(D) 3T # § s T

(E) TSR

AEHE el T 3ATe (STELH) 7

(A) AR FTSTR ool T qeaieh fepa
T Tl Bie] 3cdTe (SiE )

(B) R SR qeai W qeaieh foham T
Hohel Tle] 3cTg (Sf1.€1.dt.)

(C) W =afad 3T W qeareh foham T
gehel Te] 341G (.81t

(D) U H H g T

(E) 3manfEa

I & form ¢ I T TR G B 7
(A) I (B) IHT

(C) HIEhUET (D) T

(E) 3manfEa
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6.

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

_bc_ca_aba_c_ca

(A) bbbcc (B) abcbb
(C) abbcc (D) baaba
(E) Not attempted

Which computer was built at Cambridge

University in 1946 ?

(A) Electronic Delay Storage Automatic
Calculator (EDSAC)

(B) Universal Automatic Calculator
(UNIVAC) I

(C) PDP-8

(D) IBM 701

(E) Not attempted

Consider the following statements about
Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.

ii. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.

iii. Through 86" Constitutional
Amendment, Article 21A is inserted
in the Constitution.

iv. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are
correct ?

(A) Only i, ii and iii

(B) Only iii and iv

(C) Onlyiandii

(D)

(E)

All of the above
Not attempted

CE1G -25

6. freferfiad 31er e § $o 31e) d< @

I 3G A9 Tk faheu s & H I A A
few e 2 | W foerew g |

_bc_ca_aba_c_ca

(A) bbbcc (B) abcbb
(C) abbcc (D) baaba
(E) TRt

1946 T Ffts favafaame™ oS-
TR ST T AT 7
(A) AR Tood RS 3TTTHTeh

Fepered (EDSAC)

(B) IHawet JemfH shegperet (UNIVAC) I

(C) PDP-8

(D) IBM 701

(E) 3mwanfEa

TR Gfge™ & ar 7 FfeRad wem

T formm &t |

i. 3TTTRE 48 TSAT &l .36k 37
rfrard faren yem s i i
H 3 |

ii. Wd <l g9¢ 3 2006 § 86 af
TrfaTfres dene e weqa
o |

iii. 869 LT FRMNE & HIH o
Tfgam ¥ 3Tese 21A e o
TR |

iv. frem 1 TR 6 & 14 a9 i 3y *
Al o fou U Hiferss sTieR 2 |

S QU QT T H BT U W R 7

(A) whae i, ii 3T jii

(B) hared i 3T iv

(C) haet i 3T i

(D) Swer weft

(E) T



10.

11.

12.

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Chandigarh Green Belt Project
(B) Shivalik Green Wall Project

C) Haryana Forest Rebuild Project
D
(E

—_~ o~

Aravali Green Wall Project

~ ~— ~— ~—

Not attempted

What is the name of the woolen muffler worn
around the neck by men in Haryana ?

(A) Kamari
(B) Guliband
(C) Chaddar
(D) Mirjai

)

(E) Not attempted

What is the rank of Haryana among

Indian States in terms of software export ?
(A) Third

(B) First
(C) Fourth
(D)
(E)

Second

Not attempted

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

TR
? K&

) | x (®)

(©) ORI

(E) Not attempted

10.

11.

12.

CE1G-25
gimn & frefefad 8 9 - afEsmn

AFPH B AT AT A I 8 7
(A) 0T I S aiEieT

Ffl HReT BT 9T AT & 7

T B <) ¢ 3rrehfer & e i forehedi A
@ TS HI-H IR QU HTM ?

TR
? K&

a) | ®)

(©) (D)

(E) 3m=nfEa




13.

14.

15.

16.

17.

Ifa:b=5:7andb:c=28:09, then what
isthe ratioofa:c?

(A) 40:63
(C) 40:54
(E) Not attempted

(B) 35: 54
(D) 45 : 63

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Kalar
(B) Khadar
(C) Banjar
(D

(E

Bangar

)
)
)
) Not attempted

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1985 (B) 1967

(C) 1949 (D) 1992

(E) Not attempted

The seasonal river Markanda originates
from which area of Haryana ?

(A) Shivalik Hills

(B) Aravali Hills

(C) Yamunanagar Forest
(D)

(E)

Rajasthan Plateau
Not attempted

What does the computer do with the input
received ?

(A) It processes the input and generates
output

It sends the data to another computer
It deletes the data

None of the above

Not attempted

B
C
D

(
(
(
(E

~ ~— ~— ~—

13.

14.

15.

16.

17.

CE1G -25

ZI'ﬁ:{a:b:S:?C’:ﬁTb:c=8:9%,?ﬁ
a : ¢ %l AT 91 BTN 7

(A) 40:63 (B) 35:54
(C) 40 : 54 (D) 45 : 63
(E) 3r=nfEa

TUR-ETRT 1 T bl & W H &ieT TR
B, &l a9 & Higq H 96l 1 g oo
ST & HI Hal I &

(A) R

(B)
(€)
(D)
(E) 3romfya

I (gferor i wfeg TIsgt <1 @)
1 T e 73 off 7

(A) 1985 (B) 1967

(C) 1949 (D) 1992

(E) 3Ty

g & ford & 8 Meft 7<) areher
freperdt @ 7

et
SN
TR

T $TYE b TTY HRYLT FT AT & 7

(A) FE TTYC ! THE AT & 3TN 3TM3TYE
RS AT B

(B) T S I G HRIE W HAT &

(C) I8 221 ! g2raT &

o) . .

(E) 3Tvmfya



18.

19.

20.

21.

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.
If the total distance covered is 370 km,
then what is the initial speed of train ?
(A) 100 km/hr (B) 80 km/hr

(C) 60 km/hr (D) 90 km/hr

(E) Not attempted

In a certain code language, “in the end”

means “moh fjk omt”, “end is near” means

“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for
“near” ?

(A) epy

(B) moh

(C) azh

(D) bod

(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?

(A) Santosh Yadav
(B
(C
(D
(E

) Sunita Williams
) Kalpana Chawla
) Manushi Chhillar
) Not attempted

Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

(A
(B

Bhiwani Canal

Bhakra Canal

D
(E

)
)
(C) Gurugram Canal
(D) Jawahar Lal Canal
)

Not attempted

18.

19.

20.

21.

CE1G -25

Teh o x foprt/=1e bl 7ifd & 2 ¢ a%
ToAdt &, TRt st ifa 10 forrdt/5er 5w
L & IR rfafaa 3 =9 deh A el
2 | afe 7 it 7 Fa gt 370 foreft B, @
7 bl yrfires Tfg = R 7

(A) 100 frHft/=rer  (B) 80 feptft/=ren
(C) 60 frtfi/eer (D) 90 forrt/=rer
(E) 3Ty

fereht d HIET H “in the end” &1 374 “moh
fijk omt” %, “end is near’ &1 31 “azh moh
bod” & 3T “in near future” ST 3 “omt
azh epy” 2 | “near” % foT¢ e =1 BT 7
(A) epy

(B)
(C) azh

(D) bod

(E) 3TRRa

frafafiga o & @9 @i & aEn wE
et Tgeft Rt ot 6t afger off 3
fSteRt S ST % ST H g3 e ¢
(A) HdTY A1es
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22,

23.

24.

25.

Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the

area of the India.
Which of the above statements is/are
correct ?
(A) Only 2
(B) Both 1 and 2
(C) Only 1
(D) None of the above
(E) Not attempted

What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?

(A) Aarsi
(B
(C
(D
(E

) Anant

) Ponche

) Kangni

) Not attempted

The signs of abscissa and ordinate

of a point in the second quadrant are
respectively

Which of the following cannot be the
probability of an event ?

(A) 4% (B) 0.4
(C) 4 (D) 0.04%
(E) Not attempted

22,

23.

24.

25.

CE1G-25

YR Sl &l STeT YoTTed! o o1 |

Frefafaa et w fomm =t |

1. FEH &9 § qd § o dTett i
Y@ ¢ et et <t @ret §
it € |

2. gl IrIgia § ekl A< YRA &
10 ST &3 W1 el L aTell gl
HEY 9 ¢ 9 7 |

Sy # B HH-|1/8 B T R/ 7

(A) Had 2

(B) 1 3 2 gHi

C)%?H

(D) U | & HrE T

(E) e

B 4 afgerat gr gl &1 % 33

T Ugd I areft S & €t ISt 1 am

G ?

(A) SR

(B) 3rid

(C) wil

(D) T

(E) TRt

fecta wquts 4w fog & qa st Al &

ﬁ%m%

(A) (+-)

B) (= +)

©) (= -)

(D) (+.+)

(E) 3r=nfEa

frafafaa 9 @ s-H Tt gear f

SR &1 81 Hehdll ?

(A) 4% (B) 0.4

C) 4 (D) 0.04%

(E) 3anfEa
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26.

27.

28.

Consider the following statements about
Ajanta caves.

i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

(A) Only iii and iv
(B) Only i

(C) Onlyiandii
(D)

(E)

All of the above
Not attempted

Which instrument is used to measure the
wind velocity ?

(A) Thermometer
(B) Anemometer
(C) Odometer
(D)

(E)

None of the above

Not attempted

Which of the following is not a storage
device ?
(A) Solid-State Disk (SSD)
(B) Compact Disk (CD)
(C) Monitor
(D) Memory card

)

(E) Not attempted

26.

27.

28.

CE1G-25
IS THIST % 9R # Frferiea weAt W
foam =+ |
i, 9 HEWSg % 3fivmee el § fm
ii. SEH A THIC &, ST T 33
wrefed s et #f &= g § |
i, T[T AT 26 98 981 & IR [
Jrafe gla ° gg 6 fafie sfat
EESURIER S
iv. T8 91 B AR i g |
ST | U HH-T1/T HUH TE B/B ?
(A) whae i I iv
(B) Hhad |
(C) shaet i 3 i
(D) ST &+t
(E) TR

Y o A < T foRm Iushter 1 ST
fopa ST 2 7
(A) emiieR

(B) Hidiee fgwn (H1.21.)
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29. Choose the figure from the given alternatives

30.

31.

32.

in which the following figure is embedded.

]
@

(A)

> >

&

If ‘A’ means ‘+’, ‘B’ means ‘-, ‘C’ means *+,

(©) (D)

(E) Not attempted

and ‘D’ means ‘x’, then the value of
18A12C6D2BS5 is
(A) 25
(C) 45
(E) Not attempted

Which of the following famous battle was

fought in Sirsa district of Haryana ?
(A) Second Anglo-Sikh war

(B) Battle of Thanesar
(C) Battle of Chormar
(D)
(E)

Battle of Gujarat
Not attempted

What does DSS stand for ?
(A) Direct Satellite System
(B
C
D

(E

) Digital Satellite Service
) Direct Service Satellite
) Digital Satellite System
)

Not attempted

29.

30.

31.

32.

CE1G -25

fou U foehedi § @ 38 3TRId &1 ==
e forem freferiaa smepfa fsdt g8 2 |

BY

W ] e
©) (D) ®
(E) 3=nfEa

Ife ‘A T G+ B, ‘B HT AT — g,
‘CH I LR, DR I KR,
18A12C6D2B5 1 HH &

(A) 25 (B) 15

(C) 45 (D) 17

(E) 3Ty

g & e et & fraferfea & @
HI-1 Ug Ig T T AT 7

g, R AT 7 7
(A) SRR Bearse fomen
B) fefsteet Beemse wfdw
C) SRE Tfdq dearse
D)

(E) 3m=nfEa
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33. Match the following.

34.

35.

National Parks/

Wildlife Sanctuaries

a.

(A
(B
(C
(D
(E

Corbett National

Park i

Sunderbans

National Park ii.

Bandhavgarh

National Park iii.
. Sariska Wildlife
Sanctuaries 2

a b c
) i i iv
) i iv ii
) iv i ii
) i i iv
) Not attempted

States

West Bengal
Uttarakhand
Rajasthan

Madhya Pradesh

d
iii

Which of the following is not true ?

=

=

S

E

N
()
()
N

X
X

X

+
INA NS BN I NI N

+
wlin gld win Wl

WIN WIN WIN W
Ao WIN MO N

(E) Not attempted

Perfetti Van Melle India is located in
which district of Haryana ?

(A) Ambala

B
(C
(D
(E

Faridabad

)

)

) Sonipat
) Gurugram
)

Not attempted
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33.

34.

35.

CE1G-25
frafefaa 1 goafea i |
RUREBIEVEREIC TH
VIR
a.ﬁé’él‘[@'&lm i. afgaw s
b. Y&t TS 38 ii. STEE
c. YA UL ITH iii. TSI

d. INEh I=f9 TR0 iy, 9% 99
a b c d

(A) i i iv iii
(B) iii iv i i
(C) iv [ iii ii
(D) iii [ iv ii
(E) 3TfEd

frfefea & 9 ®F-91 97 761 8 ?

X
X

z

C

O
X

+
Ao Moo MO MO

+
Wi oldh Wi Wi

E

WIN WD WD Wl
Nl @D Moo MO

@

ghEmm & g el 0 whdt 39 A sfean
fRag 2



o

36.

37.

38.

39.

Complete the following analogy.

A /-\::V ] ?
/A
4

(A)

/A
© [\ o)

(E) Not attempted

How many times in a day, are the hands
of a clock in straight line but opposite
direction ?

(A) 24

(B
(C
(D
(E

48
20
Not attempted

~— — — ~—

The Chalukyan style of architecture is the
unique synthesis of which of the following
styles of architecture ?

(A) Dravida and Kalinga styles
(B
(C
(D
(E

Nagara and Hoysala styles
Dravida and Nagara styles
None of the above

~ ~— ~— ~—

Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Yakult Danone India Private Limited
(B)
(©)
)
)

Nestle India
Ranbaxy
(D) Glaxo Smith Kline

(E) Not attempted
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36.

37.

38.

39.

CE1G - 25
freferiaa wweaar ot il |
A /-\ [V | ?
® | /a\ ® | /a\

(©) (D)

4 4

e fo i Foreelt A ) B gt v e
Y & Sifee i feanad F B 8 7

T aregehett Sreft fferfaa & & form
TEGRETT At T MG FIATT & 7
(A) Zfag 3 i St
(B) TR 3R & Aeft
(C) gfeors 3T AmR et
(D) 3uderd # § s T
(E) 3Tomfya
giEmn & Aifiua i § feya fafefaa
T ¥ -9 AUM 3R BE & o9 Th
HYHI ITH & 7
(A) TTpee S 3fea wgae fafiee
(B) I&t sfean
(C)iﬁaﬁ
(D) T Ty TS
(E) TRt



40.

41.

42,

43.

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

(A) 7 days

(B) 4 days

(C) 8 days
(D)

(E)

6 days
Not attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English
Dictionary.

1. Prestige

2. Pristine

3. Prescribe

4. Prepaid

5. Premium

(A) 5,8,4,1,2
(C) 4,5,3,1,2
(E) Not attempted

(B) 4,5,3,2,1
(D) 5,4,3,1,2

Where is Maharana Pratap Horticulture
University located in Haryana ?

(A) Jhajjar (B) Sirsa
(C) Karnal (D) Sonipat
(E) Not attempted

Anand and Deepak started a business
investing ¥ 22,500 and X 35,000
respectively. Out of a total profit of

% 13,800, Deepak’s share is

(A) ¥ 7,200 (B) X 5,400
(C) %¥9,600 (D) X 8,400
(E) Not attempted
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40.

4.

42,

43.

CE1G-25
Ifg 6 T8Y 9 8 g fohell I &1 10 fem
T o Gohd @ AT 26 TEY 9 48 WISk 34t
% ®l 2 e §  Thd &, a1 15 T2
3 20 ASh 3T hE bl A H fohadT
g o 7
(A) 7T
(B) 4T
(C) 8fed
(D) 6fe
(E) 3romfya
el foereq 1 =999 Hifse s feu U sreei
%I 3T A § AT 7, S8 o TS ITegehi
T g
1. Prestige
2. Pristine
3. Prescribe
4. Prepaid
5. Premium
(A) 5,3,4,1,2  (B) 4,5,3,2, 1
(C) 4,5,3,1,2 (D) 5,4,3,1,2
(E) 3romfya
FRTON | WEROT T SWTET
fervaferamery el faa 7 7
(A) 3 (B) o
(C) HHTA (D) |
(E) 3rnféa
JE 3R U 3 HU: T 22,500 37
% 35,000 <l TaRT Shieh SHaER & [T |
313,800 % HoT o9 H ¥ Eueh 1 fgg
fepaT BT 7
(A) T 7,200 (B) % 5,400
(C) % 9,600 (D) ¥ 8,400
(E) 3romfya



44,

45.

46.

47.

48.

What type of signal does Integrated
Services Digital Network (ISDN) use ?
(A) Digital

(B) Hybrid

(C) Analog
(D)

(E)

None of the above

Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) Two (B) Three

(C) One (D) None of these
(E) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 68 (B) 56
(C) 54 (D) 45
(E) Not attempted

What is the average of first 40 natural

numbers ?
(A) 20 (B) 19.5
(C) 40 (D) 20.5

(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?

(A) Panchayat Samiti

(B) Gram Panchayat

(C) Gram Sabha

(D) Zila Parishad

(E) Not attempted
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44,

45.

46.

47.

48.

CE1G -25

e wioed fefiedt Jeash (315,18 .)
fore TehR o o1 BT IUII AT B 7

@l 37! hl Teh EEAT % 3Tehi ol IT 11 & |
Ife 3fep! w1 3¢ fpam Sw, a1 et
T 9 I8 9= 9 Ay @ | IrEdfdeh

&I F R ?

(A) 68 (B) 56

(C) 54 (D) 45

(E) ITvmfra

TUW 40 WTehfdeh HEATSTT I JrEd =
BT 7

(A) 20 (B) 19.5

(C) 40 (D) 20.5

(E) 3=nfEa

g § e T W i fyewm % foe
GRIA] TS 1 ShiH-H] & IR & ?
(A) T=RE Gfafd

(B )l'I'ITItI?l'I'EI?[

(C) ™

(D)ﬁwqﬁqa

(E) 3=nfEa



49.

50.

51.

52.

53.

Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) By the Prime Minister’'s consent

(B) According to the procedure
established by law

(C) By the President’s order
(D) None of the above

(E) Not attempted

What is the relationship between HCF
and LCM of two numbers aand b ?
(A) HCFxLCM=a+b

(B) HCFxLCM=axb

(C) HCF+LCM =a+b

(D) None of the above

(E) Not attempted

What are data chunks transmitted over
the Internet called ?

(A) Packets
(C) Bytes
(E) Not attempted

(B) Frames
(D) Segments

The value of (0.3)% is

(A) 27 (B) 0.27
(C) 0.0027 (D) 0.027
(E) Not attempted

Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 * 8 * 64 * 48 = 500
(A) = +, x,— B) = — x, +

C) x,+,—, + (D) %, +, =, —

(E) Not attempted
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49.

50.

51.

52.

53.

CE1G -25

AT FfI9™ o Tge0g 21§ el T
2 Tor Toreht oft safeq =t SHehs Sfiem =
=feaid Tdsal ¥ dtad Tl fehan S,

Q HEAAT a 3 b A.H.9. 3 A.9.9.
& offg F geu g ?

(A) 9.9.9. x .89, =a+b

(B) .89 x.BT. =axb

(C) HEY. + 9.H.9. =a+b

(D) 39de | IS Tl

(E) 3Ty

IS T YA 221 T hl o1 hal
IR ?

(A) Fere (B) %A

(C) wT3¢E (D) HTHE

(E) ITvfra

(0.3)°<h1 09 B

(A) 27 (B) 0.27

(C) 0.0027 (D) 0.027

(E) 3rnfEa

it sl 1 Tt shw gie o« g
1 TTEATIIT i U GEiehLoT Sl T&! &
g |

HHIHIUT : 216 + 6 * 8 * 64 * 48 = 500
(A) =, +, x,— B) = — x, +

C) x, +,—, + (D) x, +, +, —

(E) ITvmfra



54.

55.

56.

57.

58.

Which of the following are the primary
components of a computer system ?

(A) Operating System, Software,
Hardware and Internet

(B) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(C) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(D) None of the above
(E) Not attempted

Angles of a quadrilateral are in the ratio
3:4:4:7. Find the smallest angle.

(A) 60° (B) 20°
(C) 140° (D) 80°
(E) Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2016 (B) 2017

(C) 2018 (D) 2015

(E) Not attempted

The National Voters’ Day is observed on
(A) 26" November (B) 25" November
(C) 25" January (D) 30™ December
(E) Not attempted

Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A) Lata Mangeshkar

(B) Zohrabai Ambalewali
(
(D
(E

)
C) Kishori Amonkar
) Noor Jahan

)

Not attempted
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54.

55.

56.

57.

58.
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freferfea ® & -8 S e &

ik T B 7

(A) T fireen, itedar, e 3
ELATT

(B) Tgdt Tt gfve (F.di.7,), TE,
FYe /3M3eYe feamsw 3t wid
[ESIES)

(C) T wrafm gfe (FH.dy.), O,
iR 37 FA18E WA

(D) 3T # § s T

(E) 3r=nfEa

Teh =G o hIUIl 1 UM 3:4:4:7

2 | HEE B B0 T B |

(A) 60° (B) 20°
(C) 140° (D) 80°
(E) 3Ty

g 4 gt =R it e feg ad
& 6 TS off 7

(A) 2016 (B) 2017

(C) 2018 (D) 2015

(E) Ir9=mfea

TS wAeran e w5 2

(A) 26 TasT (B) 25 TaeT

(C) 25 et (D) 30 femar

(E) 3Tvmfya
Frfettaa gf@mord et § ¥ %9 1930
3 1940 o <wenl | &l fommr o Toret
& fora St STt 8 7

(A) AT TR

(B) STEUSTE STEaTeraTett

(C) Teramit 3Tt

(D) T &l

(E) 3mwanfEa



o

59.

60.

61.

62.

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

(A)

(E) Not attempted

The meaning of Phulkari is

(A) An art of making clay pots

(B) An art of shawl making

(C) A large part of villages of Haryana

(D) None of the above

(E) Not attempted

An article is marked at X 3,000 and is sold
at a 40% discount. If the shopkeeper incurs

a 10% loss on the cost price, then what
was the original cost price of the article ?

(A) 2,100 (B) ¥2,000
(C) 2,250 (D) ¥ 1,800
(E) Not attempted

~ ~— ~— ~—

When was the first General Election of
India held ?

(A) 1951 -52

(B) 1956 — 57

(C) 1948 —49

(D) None of the above

(E) Not attempted
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59.

60.

61.

62.

CE1G -25

frafefga @ @ wF-a1 3@ =g,
THAHS 3R S8 o o9 Faiad qay
guiar 8 7

O

BB 1 37 B
(A) Tt & o9 S0 il Th el

(B) VA & 6T Teh el
(C) BRATUM & el w1 Uk T fee
(D) ST # § rg T
(E)amTﬁqﬁ

TS 9% W T 3,000 3ifhd 7 3TN T8 40%
1 e T = M@ 7 | A GHMER
AN e T 10% hi BT Bl 7, a1 a%q
I ARl AR Jod F1 o7 7

(A) T 2,100 (B) 2,000

(C) % 2,250 (D) % 1,800

(E) 3mwanfEa

I <hT YEAT 3TH IATd hel 3T AT 7
(A) 1951 —52

(B) 1956 — 57

(C) 1948 — 49

(D) ST # & IS &l

(E) IrRfed




o

63.

64.

65.

66.

Where is Chokhi Dhani situated in
Haryana ?

(A) Karnal

(B) Panipat
(C
(D
(E

)
) Kurukshetra

) Sonipat

) Not attempted

If sin®0 — cos®0 = 0, then 0 is
(A) 45° (B) 0°

(C) 90° (D) 30°
(E) Not attempted

The Sheetala Mata Fair is organized in

which district of Haryana ?
(A) Jhajjar

(B) Gurugram
(C) Karnal
(D)
(E)

Ambala

Not attempted

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?

(A) Only 2

(B) Both1and 2

(C) Only 1

(D) None of the above

(E) Not attempted
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64.
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66.

CE1G -25

g 4 =t gmft waf e g v

Ffe sin%0 — cos®0 = 0%, LINGES
(A) 45° (B) 0°
(C) 90° (D) 30°
(E) 3=nfEa
g & forg TSt § sfraen A71ar Jem
TR S 8 ?
(A) R
(B) TRU™
C) ®E

)

)

(

(D) ST

(E) e

Sary o afiehtel < SR § ffaiReaa
FHYAT T fo=am # |

1. STaTg 1 TY SATTH &Y 8 FETA
foper S aren affeRtor <. iU R

foepféa fopam o Sgvas Soery
qrffetor I B |

2. . A A el 3R Jerary < faaw
% o9 gfiss ey S ugaH H |

IgEd § ¥ HH-91/ HF 9E 8/ 7

(A) HIA 2

(B) 13 2 M

(C) e 1

(D) 3T # § s T

(E) STwmfEa




67.

68.

69.

70.

What is the significance of the ‘Peeliya’

Odhani in Haryana’s customs ?

(A) Given to a bride by her in-laws
(B) Worn during marriage ceremonies
(C) Worn during harvest festivals

(D) Sent by parents to their daughter
after the birth of a male child

(E) Not attempted

Select the word from the given alternatives
which cannot be formed by using the

letters of the following word.
CONVERSATION

(A) STATION

(B) NATION

(C) REASON

(D) VERSION
(E) Not attempted

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Diwan-i-Ali — In-charge of
Charities

(B) Vakil — Chief Minister

(C) Khan-i-Saman — Home Minister

(D) Diwan — Revenue Minister

(E) Not attempted

The common difference of the Arithmetic

1 1-P 1-2P .
Progression —, ——, ——— ... is
] P’ P
A —5 (B) —1
1
© 5 (D) 1

(E) Not attempted
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g & fam § fifermn snedt =1

e § 7

(A) & I 36k YU el b G
fean S @

B) faame THEl o R T&1 S @

C) HHe T3 o G b G TeHl
ST 8

(D) T YA & T & &1 S I 3Uh
TTaT-foar g 9T AT 2

(E) 3manfEa

feu MU foereut # @ 97 weg giw S
frafafiaa wrse & e/ w1 w9 s =1
SR ST HehelT 2 |

CONVERSATION
(A) STATION
(B) NATION
(C) REASON
(D) VERSION

)

(E) 3m=nfEa

3TheR & TiHed & gey # frefefaa §
T HF-T1 I & gaferd 98 & 7

(A) GEH-T-HA - T % THH
(B) ThIeA - et

(C) @H-T-gMHH - T8 Wt

(D) dra - T HA

(E) 3romfya

1 1-P 1-2P

, L. T
PP P’ P

AR A —
3T BT
(B) -1

(D) 1



71.

72.

73.

74.

75.

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.
What is the total marks for the exam ?

(A) 400 (B) 300

(C) 600 (D) 500

(E) Not attempted

Who is popularly known as the ‘Swang

Samrat’ of Haryana ?

(A) Pandit Lakhmi Chand

(B) Harish Kataria

(C) Ali Baksh

(D) Baje Bhagat
)

(E) Not attempted

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Uttar Pradesh (B) Gujarat

(C) Rajasthan (D) Odisha

(E) Not attempted

Badhkal Lake is located in which district
of Haryana ?

(A) Faridabad (B) Hisar

(C) Panchkula (D) Kurukshetra

(E) Not attempted

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age
of B.

(A) 46 years
(C) 26 years
(E) Not attempted

(B) 32 years
(D) 24 years
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fopet vl o W IIGER 20% 37 I
T h F1¢ 30 IR H LA & A g,
R QHU IFIGAR S 32% 37eh T el
2, 39 AT 37l § 42 37k 3o firerd 2 |
weqT ot fehe 37ehi I B 7

(A) 400 (B) 300
(C) 600 (D) 500
(E) ITofra

RN & T U’ & A9 H A

Fr=faRea o @ SF-o1 s iar
TEIcEd 2024 T YHfleR TsT o7 ?

(A) ST Je (B) TSId
(C) TSR (D) 3nErm
(E) 3rvmfya

g & fra 5o 0 se@w i
feme v

(A) ®ligrsTe (B) feum

(C) e (D) Fear
(E) 3t

A 3R Bl 31 1 AN 72 B | Al ST

311 T 31U 23: 13 &, I B &l 311
FTa I |

(A) 46 T (B) 3299
(C) 2699 (D) 24 99
(E) 3ToRmféd
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English Language

76. Choose the correct synonym of the
following word from the alternatives given

below it.

Ultimate

(A) Famous (B) Beginning
(C) Victory (D) Final

(E) Not attempted

77. Choose the correct meaning of the
following idiom or expression.

To drive home

(A) To return to place of rest
(B) To find one’s roots

(C) To emphasise

(D) Back to original position
(E) Not attempted

Direction (Q. No. 78 and 79) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora (78)
the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(79) tourists visit these places every
year. One can stay in the guest house.

78. (A) was
(B) is
(C) were
(D) are
(E) Not attempted

79. (A) from

B) for

C) at

D) of

E) Not attempted

(
(
(
(

¢ -20-

80.

81.

82.

83.

84.

85.

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.
(A) have been raining

(B) is raining

(C) was raining

(D) has been raining

(E) Not attempted

Fill in the blank by choosing correct
alternative from the alternatives given
below it.

He was born 1945,
(A) at (B) on
(C) for (D) in

(E) Not attempted

Give one word substitute for the following
expression.

A period of ten years.

(A) Century (B) Decade
(C) Cavalry (D) Pioneer
(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming
(A) Flowering (B) Mild
(C) Fading (D) Quite

(E) Not attempted

Fill in the blank with the correct
alternative.

I for my pen. Have you seen it ?
(A) looking (B) will look

(C) am looking (D) look

(E) Not attempted

Choose the correctly spelt word from the
following alternatives.

(A) permenent (B) permanant
(C) permanent (D) parmanent
(E) Not attempted



o

86.

87.

88.

89.

Tt v

H | Tl weg Hl G |

(A) em

(B) Afeeror
(C) Ttequr
(D) fafwm
(E) 3rvmfya

T, R, qTih, i, fm 3fe wse form
37 % 3 3 8 ?

(A) H==IIEIT

(G RERIECIPED

(C) Toran feriwor

(D) HEYEEh

(E) 3m=nfEa

T o 19 9 @ 91gd @99 98t 1
T B4 T 1Y &, 38 FAT HEd § 7
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94.

95.

96.

‘TET HIg 7 T&d1 &’ 39 HIT HEd & 7

“‘IrgT Tt SR i off W 37 Wa TAgera
w®E | I fpm I &1 I 7 7

(A) T A

B) fufdra amer

(C) WY a1

D) 398 ¥ *I3 TE

(E) ITvmfra

S ITee G AT FeATH i (9IS SIaTd 3,
3 T HEd @ 7
A) s fersro

97.

98.

99.

100.
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‘Sl wreg % Wl 312 Wl g |
(A) TETRR TRt a1 ST T oot
(B) BIdl & ufd wg-gfie

(C) oS 1Y dh & ol

(D)

(E)easmﬁiqa

aRd ¥ “fa=dt feo’ e wamn Sar B 7
(A) 15 3TFER

(B) 14 fordsx

(C) 141

(D) 26 Al

(E) TRt

“qH T TR UGd dl HIvI I |l

S | g o hE HTeT T ISR & 7
(A) ST Tt

(B) Tof chret

C)%@%@ﬂaw

(D) T bl

(E) 3romfda

‘SRR W SR 9ol $H Alehlfad b1 Hal

Y B

(A) TTET <hT THTOT <hT 3TEIFhdT &l |
(B) WTeft 937 T F& BT & 37T ¢ |
(C) Uitem ¥ & 31=a1 el et 2 |
(D) 3= I3 o BT |

(E) ITvmfra
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9.
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13.

14.

15.

16.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother's
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the
examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.
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Candidate’s Roll Number / 31%ff 1 T/t T=R

Time Allowed : 1 Hour 45 Minutes
Uy ; 1 9T 45 fiHe

TEST CODE : CE1G - 25

Total Questions : 100
% TRF ¢ 100

T Yiereht S

Question Booklet Number

Maximum Marks : 100
JfereRdd 37 : 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER

T UY-UH i g1 e § U Ul HfeARad (Hagn ol ue

. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

Before attempting the question paper, kindly check that this booklet
has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

The OMR Answer Sheet consists of three copies, the original copy, the
commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR Answer
Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet should be
filled carefully. Change of OMR Answer Sheet is not permitted.

Do not forget to write Roll Number on the top of this Question
Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

Candidate has to fill one option compulsory out of five options
given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option ). Extra five minutes will be given to
mark 5" option, No marks will awarded against the 5" option as it
indicates that the candidate as not attempted that question.

1.

2.

39 W gfeqen § 100 Y 2 | T 9 % foTT 1 37 B |

TRA-T I FA B Y e FH i o o IR § B 24 78
2 3 30,19, 3N, IW I3 h dF Ufeai & | =i 1 gerg &
Sreft 2 R wdienm Ry g & ot e % st giifted o e
ST T GIETehT 3T 3T TH.3R. IW 7= & aeft T3 37=8t a@
B gu ¥ 3N e feeht i feret oft wehm & aafa T wEh R
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TieT! <l ST - 3T Shiell 7 o | el Tlien FHIe g W 3T, 3R,
IR T 1 TR 1 orer R fae widees @l Oiw § | wies
g areeff wf Ster e 3% ¢ & SRt | areeff st Wy we
qfEeh! =i o W1 Hehdl & |

AT GHTET S TR To- iRt S8 T ST.TH. AR, IW T
S TEAT Toh-THH BT =feT | TRt oft wehm <t ferier o St
Irreff ol e T Yo YREehT 31T 3. TH. 3T, ST U SeeraT ot
fgu | wdie IR & % uie fiee v e frmrdl W
fepam ST |

T ATawah e Araeigee 31,09, 3. 3T 0= § 9 € |
3. TR, I T % I¢d h AN Tal 2 |
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8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.

8.
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Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

(A) Gurugram Canal

(B) Bhiwani Canal

(
(

)
)
C) Jawahar Lal Canal
D) Bhakra Canal
)

(E) Not attempted

The common difference of the Arithmetic
1 1-P 1-2P

Progression — ,———, ... IS
PP’ P

g O

(
(
(E Not attempted

If ‘A’ means ‘+', ‘B’ means ‘—', ‘C’ means ‘+,

and ‘D’ means ‘x’, then the value of
18A12C6D2BS5 is

(A) 45 (B) 25

(C) 17 (D) 15

(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Ranbaxy

(B) Yakult Danone India Private Limited
(C) Glaxo Smith Kline

(D) Nestle India

(E) Not attempted

If sin° — cos®0 = 0, then 6 is

(A) 90° (B) 45°

(C) 30° (D) O

(E) Not attempted

CE1G -25

gl % Team 3 wlieene R 6
& HH-F T8 w8 7

(A) eI &l

[ECIEIEE

C) Sdr8l AT H&l

D) Hi@sT &l

(E) TSR

wr—cﬂéaﬁ; 1?,%,...%*&3‘
AR B

1
A 5
]

B) -5

(B)
(©)
(D)
)

(C) 1

(D) -1

(E) 3t

Ife ‘AT 7T+ R, B w3~ 7,
‘CH I LR, D w3 KR, Al

18A12C6D2B5 &1 AH &
(A) 45 (B) 25
(C) 17 (D) 15
(E) 3anfEa
BT & |Fd el O fra fefatad
T HI9-H1 I 3 HE & €9 Th
HIH T 7 7
(A) Haee
(B) e &AM sfean wgare fafies
C) Totedl foqer o
D) =& gfea
(E) 3Tvmfya
Ffe sin?0 — cos®0 = O%, ar 9%
(A) 90° (B) 45°
(C) 30° (D) 0
(E) 3t
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6. VR gfaae o R # f=fafad suAi

6. Consider the following statements about

Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.

ii. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.

iii. Through 86" Constitutional
Amendment, Article 21A is inserted
in the Constitution.

iv. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are
correct ?

(A) Onlyiandii

(B) Only iii and iv
(C) Only i, ii and iii
(D)

(E)

All of the above
Not attempted

The meaning of Phulkari is
(A) A large part of villages of Haryana
(B) An art of shawl making
C
D
(E

)
(C) An art of making clay pots
(D) None of the above
) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 54 (B) 68
(C) 45 (D) 56
(E) Not attempted

T formm &t |
i. 3TTTe¢ 48 TSAT &l 3ok 37
FAfETe f31er yeM S Sl giehedHT
T 7 |
ii. WA <l ¥9¢ 4 2006 § 86 af
gifaenfes FeneA it wqa
o |
iii. 869 WGk GNEA o AT I
Tfge™ ¥ 37g=sg 21A Ifaa fon
TR |
iv. farem 1 TR 6 & 14 a9 i Y *
T4l % foq T Hifetsh TR 2 |
I Teu U el | HH-TT U T § 7
(A) Had i 3T i
(B) whaed iii I iv
(C) et i, i 3N jii
(D) v &
(E) 3nfaa

BTl <l 31 B

(A) BREON % Tiel w1 T S e

(B) T S <hl Teh shedl

(C) Tt & w9 s 6 Th el

(D) S7dF | & Hre T

(E) 3Tomféa

Q1 37l hl Teh TEAT o I BT AN 11 B |

Ife 37hl I Ide fopam SU, O SRl
&I W I3 =T 9 s B | arkdfaes

e R ?
(A) 54 (B) 68
(C) 45 (D) 56
(E) 3=nfEa

oY%
TR0
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9.

10.

11.

12.
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What is the relationship between HCF
and LCM of two numbers a and b ?

(A) HCF + LCM=a+b
(B) HCF x LCM=a x b
(C) HCF xLCM=a+b
(D) None of the above

)
)
)
(E) Not attempted

What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?

(A) Ponche
(C) Kangni
(E) Not attempted

(B) Aarsi
(D) Anant

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Both 1 and 2

(C) Only 2

(D) None of the above

(E) Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) One (B) Three
(C) Two (D) None of these
(E) Not attempted

9.

10.

11.

12.

CE1G -25

T T3 a 3R b #.E.9. 31 ¢@.9.9.
% ol w1 G99y B ?

(A) .99, + 9.9.9. =a+b

(B) H.E.U. x.8.9. =axb

(C) HE.9. x1.9.9. =a+b

(D) 39 H H I3 TE

(E) 3Ty

g o wigensti g <ifed 819 < 33
H g S arel 3 ¥ S St b1 AW
TG ?
(A) T (B) et
(D) 3d

STeTaTg o arfieto o a1 H frfaifiaa

HY T T L |

1. STy 1 T6Y SATTH &Y 8 FETA
Tepan S aTenT aftentor oft. iU grT
foenféa foparm o Sgvas Soery
iRt FISHT R |

2. ft. i 3 et 3R Sy o foawo
o+ s "fIse qeY 6 ugeae 6 |

ST # § HH-T1/F huA T B/ 7

(A) Haet 1

(B) 1 3R 2 g

(C) haet 2

(D) ST # § hig T

(E) 3ToRmfaa

BT T fehael SR Tsedfa Smee e
™07
(A) T
©) &
(E) 3T9=miyd

(B)
(D) 3T & HI3 T



13.

14.

15.

16.

17.

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

(A) 8days (B) 7 days
(C) 6 days (D) 4 days
(E) Not attempted

What is the average of first 40 natural

numbers ?
(A) 40 (B) 20
(C) 20.5 (D) 19.5

(E) Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Ali Baksh

(B) Pandit Lakhmi Chand

(C) Baje Bhagat

(D) Harish Kataria

(E) Not attempted

What are data chunks transmitted over
the Internet called ?

(A) Bytes
(C) Segments
(E) Not attempted

(B) Packets
(D) Frames

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at per capita income

(B) Gross Domestic Product (GDP)
evaluated at constant market prices

(C) Gross Domestic Product (GDP)
evaluated at current market prices

(D) None of the above
(E) Not attempted

13.

14.

15.

16.

17.

CE1G-25
Ifg 6 T6Y 9 8 g fohell I &1 10 fem
H T Tehd & AT 26 T¥Y 9 48 TSk 34T
F I 2 fe7 ° & Fhd &, a1 15 o
3 20 TS 3T 1 hl B H TeheT
g o 7
(A) 8 fer B) 7 e
(C) 6fe (D) 4feH
(E) 3manfEa
T 40 TTh{deh HEATHT 1 STEd =
BT ?
(A) 40 (B) 20
(C) 20.5 (D) 19.5
(E) ITvfra
BRI % T g9’ & A9 § A

AT & 7
(A) 3Tl &
(B) Ufsa et =ie
(C) ST WiTd
(D) &9 sherien
(E) T9=mfaa

3TAC W JHTNG 2T Teh ohl &1 hal
SR ?
(A) dTecH
(C) |mHe
(E) 3m=nfEa

AT Hehel TS ITE (SH.E) B

(A) Ifd ST 3T T JeATehA TRl TR
gehel T 3cdTe (S.€1.d.)

(B) R SR qeai W qeaieh foham T
Hohel Tle] 341G (Sf1.€1.dt.)

(C) A STSIR Hei T qearehd foha
T Hehed B 3T (Sf1.€1.d1.)

(D) 3w H & Ig T

(E) 3romfya

oY%
TR0
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19.

20.

21.

22,
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The Sheetala Mata Fair is organized in
which district of Haryana ?

(A) Karnal (B) Jhajjar

(C) Ambala (D) Gurugram

(E) Not attempted

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.
What is the total marks for the exam ?

(A) 600 (B) 400
(C) 500 (D) 300
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

_bc_ca_aba_c_ca

(A) abbcc (B) bbbcc
(C) baaba (D) abcbb
(E) Not attempted

Where is Maharana Pratap Horticulture
University located in Haryana ?

(A) Karnal (B) Jhajjar
(C) Sonipat (D) Sirsa
(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?

(A) Gram Sabha

(B) Panchayat Samiti

(C) Zila Parishad

(D) Gram Panchayat

(E) Not attempted

~— ~— ~— ~—

18.

19.

20.

21.

22,

CE1G-25
g & forg TSt 0 sfiqer wmar den
TR ST 8 7
(A) THETA (B) FSSH
(C) ST (D) &I
(E) e
forel gt d Wk IEfleaT 20% 37k T

HH & F1¢ 30 3R A A & A g,
Sfeifeh GERT IFHIGER ST 32% 37k ST Sl
2, 38 Il 3ol & 42 37 3nfereh firerd |
wlieTT et feh 37hi T B 7

(A) 600 (B) 400
(C) 500 (D) 300
(E) ITvmfra

g s1er J@en ¥ $o HeW q< &
I 3G 9 Tk fameu & & H I A A
fewmu 2 | = T g |

_bc_ca_aba_c_ca

(A) abbcc (B) bbbcc

(C) baaba (D) abcbb

(E) 3ToRmfaa

BT § AR YT STeTT
fervaforeaner waf feua & 2

(A) HTA (B) $ISSR

(C) @iiua (D) T

(E) 3t

g e T w anfir foem & fag
TR TS 1 hiA-81 & IEE @ 7
(A) U™ 9T

(B) v=mad @fifa

(C) Toret uitwe

(D) T U=d

(E) ITvmfra



23.

24.

25.

26.

27.

When was the first General Election of
India held ?

(A) 1948 —49

(B) 1956 — 57

(C) 1951 -52

(D) None of the above

(E) Not attempted

Badhkal Lake is located in which district
of Haryana ?

(A) Panchkula (B) Faridabad

(C) Kurukshetra (D) Hisar

(E) Not attempted

Ifa:b=5:7andb:c=8:9, then what
isthe ratioofa:c?

(A) 40:54
(C) 45:683
(E) Not attempted

(B) 40 : 63
(D) 35: 54

What type of signal does Integrated
Services Digital Network (ISDN) use ?

(A) Analog
(B) Hybrid
(C) Digital
(D)

(E)

None of the above

Not attempted

Which of the following famous battle was
fought in Sirsa district of Haryana ?

(A) Battle of Chormar

(B
C
D
(E

Second Anglo-Sikh war

(C) Battle of Gujarat
(D) Battle of Thanesar

)
)
)
)

Not attempted

23.

24.

25.

26.

27.

CE1G -25

HIA <hl 98T 3TH AT <hel AT AT 7
(A) 1948 — 49
(B) 1956 — 57
(C) 1951 -52
(D) STH & & i
(E) e

g & form Sl 4 ss@w i
fea g 2

(A) =R (B) ®iigreTg
(C) Feer (D) feaw
(E) 3T=mfyd

aﬁa:b:5:73ﬁ'{b:c:8:9%,ﬁ
a: ¢l ITITT T BAT ?

(A) 40: 54 (B) 40 : 63
(C) 45:63 (D) 35:54

(E) 3ToRmféa

3oee Hiaed fefseet Jeash (et dw.)
ferd TpR o TS 1 ITF Ha1 8 7
(A) T

GRHES

(C) Tefvrea

(D) ST # H Ig T

(E) 3=nfEa

g & fogan Tt # frafofaa & @
D1 IHG g ST T o7 7

(A) SRER 1 Ig

B) Tedrar smer-Toeg g

(C) S04 =T Ig

(D) ¥ F1 I

(E) 3Tomfda

oY%
TR0
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29.

30.

31.

oY%
o5

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Rajasthan
(B) Uttar Pradesh
(C) Odisha

(D)

(E)

Gujarat

Not attempted

The National Voters’ Day is observed on

(A) 25" January

(B) 26™ November

(C) 30" December

(D) 25" November
)

(E) Not attempted

Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) By the President’s order

(B) According to the procedure
established by law

(C) By the Prime Minister’s consent
(D) None of the above

(E) Not attempted

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Banjar
(B
(C
(D
(E

Kalar
Bangar
Khadar

)
)
)
) Not attempted

28.

29.

30.

31.
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FrafaRea o @ H-a1 s wiar
TEIcHd 2024 T YTER TST T ?
(A) TSI

(B) ST e
(C) ITrm
(D) TSR
(E) 3ToRmfea

TS g feaq T S @
(A) 25 SH
(B) 26 Fa
(C) 30 fe@s
(D) 25 Fd&
(E) 3romfya

AT Ffau™ o Tgse 21 § el T

2 Top Torelt oft sfa =61 3wep Sfiam =

fkqTd Toaaal | afad T8l feram Sam,

Tqam

(A) Tgafd & ITMew &

(B) I G TATMUT JishaT o TTEAR
C) wuT A ! Henfd ¥
)
)

(
(D) 3ug | & HIS T
(E) e

TUR-ETR el T bl & W H &ieT TR
®, Sal a9l o HHW § 9Ieid 7 g aTl
3I=adt & i HEl AT 8

(A) ST

(B)
(C)
(D)
(E) 3=nfEa

e
C KR
L]
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32.

33.

34.

35.

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.
If the total distance covered is 370 km,
then what is the initial speed of train ?
(A) 60 km/hr (B) 100 km/hr

(C) 90 km/hr (D) 80 km/hr

(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space

and was born in Karnal, Haryana ?
(A) Kalpana Chawla
(B) Santosh Yadav
C) Manushi Chhillar
)
)

Sunita Williams

—_~ o~

D

(E) Not attempted

What is the significance of the ‘Peeliya’
Odhani in Haryana’s customs ?

(A) Worn during harvest festivals
(B) Given to a bride by her in-laws

(C) Sent by parents to their daughter
after the birth of a male child

(D) Worn during marriage ceremonies

(E) Not attempted

Which computer was built at Cambridge

University in 1946 ?

(A) PDP-8

(B) Electronic Delay Storage Automatic
Calculator (EDSAC)

(C) IBM 701

(D) Universal Automatic Calculator
(UNIVAC) I

(E) Not attempted

32.

33.

34.

35.

CE1G -25

Teh o x foprt/=1e bl 7ifd & 2 ¢ a%

TeAdt 8, Tee 1ot nifa 10 fomrdt/5rer 6m

T <t 7 IR fafea 3 € dh AT HLdt

2 | afe 7 it 7 Fa gt 370 foreft B, @

o <l grfires Tfg =R 7

(A) 60 frHt/=er  (B) 100 Tt /=rer

(C) 90 ferfi/mra1 (D) 80 Tortft/=ren

(E) 3romfya

frafefaa & @+ stafer it I w3

Treft Teelt R ot 6t afgern off 3

et St BT % AT | g3 an ?

(A) eI TS

(B) &Iy =Tes

(C) =t feseem

(D) g faforard

(E) T9=mfa

g & fam § fifern’ snedt =1

HEd 8 ?

(A) et erd % e % e T
EIGIR

(B) Q& Wl IHeh TYUA ATl o G
RIS G

(C) T JA o T & &g S I 3Uh
HraT-fudr gr 9T A B

(D) feraTe WURIE % SR W& ST 8

(E) 3manfEa

1946 § hits forvafoame™ § wl9-41

SR ST T AT 7

(A) PDP-8

(B) IR feot WRS 3Tfemfes
Feporet (EDSAC)

(C) IBM 701

(D) IHawe 3tfemfesh shegpetet (UNIVAC) I
(E) 3=nfEa

oY%
TR0
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36. Consider the following statements about

37.

38.

39.

oY%
o5

Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

(A) Onlyiandii

(B) Onlyi

(C) Only iii and iv

(D) All of the above

(E) Not attempted

What does DSS stand for ?
(A) Direct Service Satellite
(B
(C
(D
(E

) Direct Satellite System
) Digital Satellite System
) Digital Satellite Service
) Not attempted

Select the word from the given alternatives
which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) REASON (B) STATION
(C) VERSION (D) NATION

(E) Not attempted

Tangri river is a tributary of which river ?

(A) Markanda

(B) Ghaggar

(C) Ganga

(D) Yamuna
)

(E) Not attempted
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36.

37.

38.

39.

CE1G -25

AT THIAT b TR ° fFraforfad sweEi w
ferem =+ |
i. 9 HEWSg % 3fmee e § o €
ii. STH A THIY &, ST T IS
TrdTfezal i aFafy o o918 TS § |
i, T T 26 §EA TG B IR
JTaies Bt 7 gg 1 it st
IR TS F
iv. T8 99 B AETaifeaH 6 7 |
Wﬁﬁﬁﬁ—wﬁwaﬁ%/%?
A) Ha | I i
)ao_clﬂl
C)%ﬁlﬂm&ﬁ?lv
(D) ST weft
(E) 3Ty
ERC R RC o i

feu Tu foepedi © @ 97 weg YT S
frerforRaa wrsg & 31/l &1 T s T8
SR ST GeheT 2 |

CONVERSATION
(A) REASON
(C) VERSION

(E) 3m=nfEa
Y &) forg 1€} 1 Tk HEEe A B 7

(B) STATION
(D) NATION
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40.

41.

42,

43.

An article is marked at ¥ 3,000 and is sold
at a 40% discount. If the shopkeeper incurs
a 10% loss on the cost price, then what
was the original cost price of the article ?
(A) 2,250 (B) 2,100

(C) X 1,800 (D) ¥ 2,000

(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Nath

(B) Koka

(C) Borla

(D) None of the above

(E) Not attempted

Match the following.
National Parks/
Wildlife Sanctuaries
a. Corbett National
Park i
b. Sunderbans
National Park ii.
c. Bandhavgarh
National Park iii.
d. Sariska Wildlife

States

West Bengal
Uttarakhand

Rajasthan

Sanctuaries iv. Madhya Pradesh
a b c d
(A) iv i i ii
(B) ii i iv iii
(C) i i iv ii
(D) iii iv ii i
(E) Not attempted

Where is Chokhi Dhani situated in

Haryana ?
(A) Kurukshetra  (B) Karnal
(C) Sonipat (D) Panipat

(E) Not attempted
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40.

41.

42,

43.

CE1G -25

TS I W 2 3,000 3ifhd & 3R I8 40%
1 e T = M@ 7 | ATG GHMER
NG e W 10% hi BT Bl 7, a1 9%q
%1 AT AT Hod &1 AT 7

(A) % 2,250 (B) 2,100

(C) % 1,800 (D) % 2,000

(E) 3Ty

ERETUTEt gegHl g Ug S STeTl shia-HT

URYNE YN Ueh G <l Tl 8 I8

TATHR T & 41 81 B 7

(A) T

(B) =il

(C) e

(D) ST # § hrg T

(E) 3ToRmfea

freafefaa 1 gafea i |

T I /T

AR

a. Hiee T 3T

b. Getad U I ii. ITES

c. UG UL ITH i, TSI

d. GiEh! a=sie JIYIRT v, HET T
a b c d

USSP

i, gfyem s

(A) iv i i

(B) ii i v i

(C) iii v

(D) i v i i

(E) 3Ty

g 4 =i @l wa fRa g 7
(A) T (B) HETA
(C) |riua (D) UTTa
(E) T9=rmfaa

oY%
TR0



44,

45.

46.

47.
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In a certain code language, “in the end”
means “moh fijk omt”, “end is near” means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for

“near” ?
(A) azh
(B) epy
(C) bod
(D) moh
(E) Not attempted

The value of (0.3)° is
(A) 0.0027

(B) 2

(C) 0.027
(D) 0.27

(E) Not attempted

The Chalukyan style of architecture is the
unique synthesis of which of the following
styles of architecture ?

(A) Dravida and Nagara styles

(B) Nagara and Hoysala styles
(C) Dravida and Kalinga styles
(D) None of the above

)

(E) Not attempted

Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A
(B

) Kishori Amonkar
)
C) Noor Jahan
)
)

Lata Mangeshkar
(
(D) Zohrabai Ambalewali

(E) Not attempted
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44,

45.

46.

47.

CE1G -25

fepet he W1 | “in the end” &1 374 “moh
fijk omt” %, “end is near’ %1 31 “azh moh
bod” % 31 “in near future” &1 31 “omt
azh epy” 2 | “near” % foT¢ e =1 BT 7
(A) azh
(B) epy
(C) bod
(D) moh
(E) 3Ty
(0.3)°w1 A B
(A) 0.0027
(B) 2
C) 0.027
)
)

)
)
)
)

(
(D) 0.27
(E) 3r=nfEa

AT Argehet! Sreft fmferfaa o @ form
TR Sttt T Al T & 7
(A) gfog 3 AR et

(B) TR 3R EEEet Sl
C)E{%I@'&ﬁTEFi%PTﬁFﬁ

(D) 3w | § 1S e

(E) 3romfya

Frfaftaa i@ et @ ¥ S 1930
3T 1940 o grehi A T&dt fommm o wrorett
% foru St STt § 2

(A) TR IRt

(B) T HISTERT

(C) | &l

(D) FIEUETS STFTeiaTet!

(E) 3romfya
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48.

49.

50.

51.

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

AT

? &
(A) ® | >
(©) ‘—|\ (D)

(E) Not attempted

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age
of B.

(A) 26 years
(C) 24 years
(E) Not attempted

(B) 46 years
(D) 32 years

Which of the following is not a storage
device ?

(A) Monitor

(B) Solid-State Disk (SSD)

C
D
(E

Memory card

)
(C)
(D) Compact Disk (CD)
) Not attempted

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Haryana Forest Rebuild Project
(B) Chandigarh Green Belt Project
C
D
(E

Aravali Green Wall Project

)
(C)
(D) Shivalik Green Wall Project
)

Not attempted
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w9 H & T ammepfa % e 1 faehedt §
& TS BT Rl G w7

TR
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o

(D)

A 3R BT 31 &1 AN 72 B | Afe I

31 T 3TUTd 23 : 13 7, I B <l 31
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(A) 269 (B) 46 9
(C) 2499 (D) 3249
(E) 3mwanfEa

frafafiga 4 9 -9 ©RS fearzg
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52.

53.

54.

oY%
o5

How many times in a day, are the hands
of a clock in straight line but opposite
direction ?

(A) 48 (B) 24

(C) 20 (D) 22

(E) Not attempted

Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Both 1 and 2

(C) Only 2

(D) None of the above

(E) Not attempted

~— — ~— ~—

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

WO O
O

(E) Not attempted
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53.

54.

CE1G -25

e feT o fopaHt s gl <t At ue weft
@1 | At foadia feemst § &t 8 ¢
(A) 48 (B) 24

(C) 20 (D) 22

(E) 3r=nfEa

YR Sl &l STeT YoTTed! o o1 |

Fr=fefaa ot w fomm =t |

1. THREA &9 § g9 § 98 arell ST
Y@ S Junferat st <t @rEl §
it € |

2. gt IIgia o ekl e YRd &
10 WiTd &3 1 el i drell gadl
TEY 9 ¢ 9 #

e § ¥ HH-91/ HU GG 8/ 7

(A) shaet 1

(B) 1 3 2 gHi

(C) whad 2

(D) ST # & IS TEl

(E) 3romfya

frafafiga 9 & wF-w1 3@ Iq4,

THEYS 3R 984S o s e g9y

ST B 7

WO O
O

(©)

O
(D) @
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55.

56.

57.

58.

The seasonal river Markanda originates
from which area of Haryana ?

(A) Yamunanagar Forest
(B) Shivalik Hills

(
(D
(E

)
)
C) Rajasthan Plateau
) Aravali Hills
)

Not attempted

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Khan-i-Saman — Home Minister

(B) Diwan-i-Ali — In-charge of
Charities

(C) Diwan — Revenue Minister

(D) Vakil — Chief Minister

(E) Not attempted

Choose the figure from the given alternatives
in which the following figure is embedded.

BY

(A) @ (B)

(E) Not attempted

]

S D

(D)

The signs of abscissa and ordinate
of a point in the second quadrant are
respectively

(A) (=-)
(C) (+,+4)
(E) Not attempted

(B) (+ -)
(D) (= +)
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g & forg &9 8 Meft 7<) Aeher
feradr 2 ?

P & HAHSA o gay # frfariaa o
T HF-T1 I & gaferd 98 & 7

(A) @H-T-HHH - T8 Wt

(B) EEM-T-3Tl - g % WWH
(C) & - o Tt

(D) wFehied - e

(E) 3romfya

fou U forehedi § @ 38 3TTRIA 1 =2
it foremt fFrferfaa smefa fodt &5 2

BY

(A) @ (B)

0| Q| @D

(E) 3Tomfya

fodta wrqertsr 4 we fog & 99 3R HIle &
forg shwrr: 8

(A) (=-) B) (+ -

C) (++) D) =+

(E) 3anfEa



59.

60.

61.

62.
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What does the computer do with the input
received ?

(A) It deletes the data
(B) It sends the data to another computer

(C) It processes the input and generates
output

(D) None of the above

(E) Not attempted

What is the name of the woolen muffler worn

around the neck by men in Haryana ?

(A) Chaddar

(B) Kamari

(C) Mirjai

(D) Guliband
)

(E) Not attempted

Complete the following analogy.

All AV ]2

(A)

(B)

(©)

2| <[] [>] <€

(D)

(E) Not attempted

Which of the following cannot be the
probability of an event ?

(A) 4 (B) 4%

(C) 0.04% (D) 0.4

(E) Not attempted

-16-

59.

60.

61.

62.

CE1G -25

T $YE oh T SR 1 Il & 7
(A) IZ S HI T &
(B) ¥8 ST I G HIL T HIIT &

(C) & TTYE hI TEH T B 3 3MSYL
RS KAl B

(D) 3w & & HIE T

(E) 3romfya

BRE # qEE gRI T H 9 S A

Sl AT ol 1 AW § 7

(A) =X

(B) HH

(GREISE

(D) et

(E) 3romfda

fafafaa Taew g Hifse |

B

A

4

/A
Y

£\

(E) 3fEa

frafafiga 5 9 -4 foredl "o i

YTRrehdT 81 B Fehdl ?
(A) 4 (B) 4%
(C) 0.04% (D) 0.4

(E) 3anfEa
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(B)
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(D)
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63.

64.

65.

66.

Which instrument is used to measure the
wind velocity ?

(A) Odometer
(B) Anemometer

C)

D) None of the above
(E)

(C) Thermometer
(
Not attempted

Which of the following is not true ?

—_~
2
N
|
o
|
N
N

X
X

C

—+
—+

S

Al Mo MO AN

X
WIND WIND Wi o

WIN WIN Wi W
Al Ml Ml W]

E

=z

(E)

ot attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English

Dictionary.

1. Prestige
Pristine
Prescribe
Prepaid
Premium

(A) 4,5,3,1,2
(C) 5,4,3,1,2
(E) Not attempted

ARl A

(B) 5,3,4,1,2
(D) 4,5,3,2, 1

Angles of a quadrilateral are in the ratio
3:4:4:7. Find the smallest angle.

(A) 140° (B) 60°
(C) 80° (D) 20°
(E) Not attempted
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Y T A o o7 foRe Iushter <1 ST
fepan ST 8 2

(A) 3T

(B) THHIHIE

(C) emitfiex

(D) Suded H & IS TEl

(E) 3m=nfaa

et § @ w-a1 g 78 8 2

X

z

X
X

—_~
D
WIN Wi wiNn olbs

+
+

S

Al Mo MO MOl

WIN WIN WINd WD
Ao Ao MO @D

GENC

wEl foshed w1 = HIT S few Tu vred
=1 39 shH H AT &, SIH o 3TUSH Teqehist
T 3Td g |

Prestige

Pristine

Prescribe

Prepaid

o~ 0bd -

Premium
(A) 4,5,3,1,2

(C) 5,4,3,1,2
(E) 3=nfEa

Teh g o IV T I 3:4:4:7
2 | T BIeT HI0T 71 BT |

(B) 5,3,4,1,2
(D) 4,5,3,2, 1

(A) 140° (B) 60°
(C) 80° (D) 20°
(E) STy

oY%
TR0
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68.

69.

70.
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Anand and Deepak started a business
investing X 22,500 and X 35,000
respectively. Out of a total profit of

¥ 13,800, Deepak’s share is

(A) 39,600 (B) ¥ 7,200

(C) 8,400 (D) X 5,400

(E) Not attempted

Which of the following are the primary
components of a computer system ?

(A) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(B) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(C) Operating System, Software,
Hardware and Internet

(D) None of the above
(E) Not attempted

Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 = 8 * 64 * 48 = 500
(A) x, +,—, + (B) =, +, x,—

C) x, +,+, — (D) + — %, +

(E) Not attempted

Perfetti Van Melle India is located in
which district of Haryana ?

(A) Sonipat
(B) Ambala
(
(D
(E

)
)

C) Gurugram
) Faridabad
)

Not attempted
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(A) 9,600 (B) % 7,200
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(E) 3manfEa
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$TYe / 3R3YE feamsd 3 Wi
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(D) SUded # & IS TEl

(E) 3ToRmfaa

Tfore fomi o1 92 % gHT S« s
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% |

T : 216 + 6 = 8 = 64 * 48 = 500
(A) x, +,—, + (B) =, +, x,—

C) x, +,+, — (D) = — x, +

(E) 3Tomféa

giemn & fora 5o °§ Wt 99 Ao sfean
femas ?

(A) T

(B) 3TETeAT

(C) o™

(D) iiereTe

(E) 3ToRmféa
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72.

73.

74.

75.

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1949 (B) 1985

(C) 1992 (D) 1967

(E) Not attempted

Which of the following equation
represents a straight line ?

(A) X +y?=25

B) y= X2 + 4

(C) 2x+3y=6

(D) None of the above
(E) Not attempted

Which number will come in the place of
question mark (?) in the following number
series ?

3,59, 733,65
(A) 19 (B) 15
(C) 17 (D) 13

(E) Not attempted

What is the rank of Haryana among
Indian States in terms of software export ?

(A) Fourth
(B) Third

C
D
(E

Second

)
(C)
(D) First
) Not attempted
In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2018

(B) 2016

(C) 2015

(D) 2017
)

(E) Not attempted
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i (Sferor qd Tfmeg sl 1 99)
61 T e g3 off
(A) 1949 (B) 1985
(C) 1992 (D) 1967
(E) anfEa

FrafaRea o @ S-o1 arfietor v wieft
@1 1 g o g 7

(A) x2+y2:25

(B) y=x2+4

(C) 2x+3y=6

)
(D) 39 | ¥ HIS Tl
(E) 3=fEa

frfafiaa s s@en # w7 fog (7) &
WM T HI-H G=b 3R ?

3,5,9, 7 33,65
(A) 19

(C) 17

(E) 3=
Higeamw fafd & amer § gi@mon w0
RS TSl 8 o1 SH 8 ?

(A) =t

(B) <&

(C) qau

(D) 9gett

(E) ITvfra

g 4 gt =R gfaret e feg ad
& 6 TS off 7

(A) 2018

(B) 2016

(C) 2015

(B) 15
(D) 13

(D) 2017
(E) r9=mfaa

oY%
TR0



76.

77.

78.

79.

80.

oY%
o5

CE1G -25

English Language

Give one word substitute for the following
expression.

A period of ten years.

(A) Cavalry (B) Century
(C) Pioneer (D) Decade
(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming
(A) Fading (B) Flowering
(C) Quite (D) Mild

(E) Not attempted

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.

(A) was raining

(B) have been raining

(C) has been raining

(D) is raining

(E) Not attempted

Fill in the blank by choosing correct

alternative from the alternatives given
below it.

He was born 1945.

(A) for

(B) at

(C) in

(D) on

(E) Not attempted

Fill in the blank with the correct
alternative.

I for my pen. Have you seen it ?
(A) am looking (B) looking
(C) look (D) will look

(E) Not attempted

81.

Choose the correct meaning of the
following idiom or expression.

To drive home

(A) To emphasise

(B) To return to place of rest
(C) Back to original position
(D) To find one’s roots

(E) Not attempted

Direction (Q. No. 82 and 83) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora

(82)

the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(83) tourists visit these places every

year. One can stay in the guest house.

82.

83.

84.

85.
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(A) were (B) was
(C) are (D) is
(E) Not attempted

(A) at (B) from
(C) of (D) for

(E) Not attempted

Choose the correctly spelt word from the
following alternatives.

(A) permanent (B) permenent
(C) parmanent (D) permanant
(E) Not attempted

Choose the correct synonym of the
following word from the alternatives given
below it.

Ultimate
(A) Victory (B) Famous
(C) Final (D) Beginning

(E) Not attempted



86.

87.

88.

89.

&= ww

a-{;nv ﬁi,m, ?ﬁvﬁmmm
3T % IaAd 3 & 7
(A) Tspam femiwor

TR # ‘fa< feod’ e wHRT ST R 2
(A) 14T

(B) 15 3T

(C) 26 SHall

(D) 14 foast

(E) 3rvmfya

g + 37 = Wi fohd iy &
IR B 7

‘3T U YR TSAT GaTaR T TEr 37
g |

(A) B THI | T M |

(B) &N ST |

(C) | femam =T |

(D) AUt BTN T T |

(E) 3Tomfya
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90.

o1.

92.

93.

CE1G -25

‘ST&l g 7 @al & 3 91 had § 7

‘SR | SR Wl 39 SAlehltad Sl Tl
Y 7

(A) T T & 3= Bl fHeAal 8 |

(B) TeaI&T sl THTUT <hl SATETIHT T8l |

(C) 3T HIs o4 BT |

(D) WieAl 937 & FB AT & 310 2 |
(E) TSR

“qH H TR Tgd dl ST UTE Bl
S | g e foRE hTel 1 ISR B 7

(A) Tq-BGHE YahTA
(B) 31T ¥Tohret
(C) "= Ydhlet
(D) Ut ¥cFehre

(E) 3anfEa

oY%
TR0



% CE1G - 25

94. Tomferfiad wreal § & T w1 wHiHaT= 97. S WI&C G A1 T I fasiyar sam g,

w5g I | 32 o1 hEd B 7
(A) fergr BRERIBEEE
W = (C) fopam (D) FFH
(B) i (E) 3T
(C) et 98. ‘‘FEl Ugel S U off W I W oigeTRl
(D) TR R 2 " g% forg e &1 3T B 7
SR (A) HgFd a1
®) (B) Tufdra s
C) &
)

(
95. ‘IrEurl’ g % wEl 31 Wl g | (D sqﬁﬁaﬁé:raﬁ
A) UTS THT qh & el (E) 3mrfe

B) TR HEHi A1 ST o1 Secre 99. Tsha o T8 ¥4 & 95d 979 98 ®1 %
U B T e 3, I R had & 7

(C) ITA-Te
D) ®idi % ufd Wg-gfee Eg E;Q;ZW
(E) TSR (C) |fgg asha
96. ‘Fftarr ws 3mrg W 8, FfeRaa wreqt ((3 m
H ¥ Hal 71eg &l g | S N NS —
A) Tfig e T F9 AT |
e (A) 3T
o o
D) feegor (D) 3
(E) SToRfd (E) TSR
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13.

14.

15.

16.

20.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother's
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the
examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.

20.

avreff ol oI U TeRT-us o B, o W g € | i wen vfA
B SN T -G B, W I W e g =T Si&i B foran gan
R 3Eh AN BIA o T Th Ue-T, S Foh grsferm emgdg,
el UNET-T, MR HlS, TdE 37fe T & S Th  Tefl-shg T
AT FAER B | 3 sl i e & i Iatd T8 & Sl |

Sl 1 Femg § S 2 T 3 glftea S 6 3N i umLam.
I Ok W 3neeff st AW, T <hT T, HIAT <1 T, TR g 6
e, e s faf, T, Tet wg%wawasﬁw%mq
Feereort bt fora & Fopell o SR 1 e T B W aref] W
@Wﬁgﬁ%%@m@%lg&ﬂ%ﬁmmm
%w@ﬁﬁnﬁwmﬁmﬁma& Iufeafa-w=re
W, 3M.TH.3N. IR T W 3R TEmies aeia § o 3R st
TR T EE o R |

. il Rl =iaTert &t ST 2 foh o 3N UL 3TR. ST wereR | foneht oft

TR <1 9T 7 5718 37 7 €1 38 HIE | 37 UH. TR, ST U= H $9 oft
forEm 3R s o Uy 34 e o fore Wi, Arem, s, athe @
uenel /amgeR 3ife o1 T o Rt o1 TR @ 3@ &t uge mEE
e 21 37 g eTl o TEINT © TR SR A1 371 UH. AR, ST U | e
U2 B W, TR o (9 g wan et g o srvefi it srvaferar sk
3T TH.3TR. I U= 1 & e e few s

SRR 1 =t & W ® o6 o wATer, Histee B, TRt o TR <
Y, See, Soldriieh A1 TR HeH! I, U, Ui, SR, IR 3 foran
73 firer < foru e werel witen 3 & 9 o S 37 7 & S, =F, FH
T g T et a1 TeReRt oft SR ST SMET UE | S Srgati ok Tner Rt
ot arvreff <t wdter-giet W waw e fozn S | when-het 3 3ty TRt
aneff % urm Afe Ferset B A1 WE € g a5g few Seo S TR
T 7, Rl St R 6 et v iR Seote Amn e 3i afen §
IR AT e &) Sl qen wiosy § off S Al whens
ufera B W ot wferser @ fea s |

e -heg T Iiteds a1 wler-gia § dic & itad & ey o foret
ot arvzreff St yrei W ferem Tl foran s |

wRIgh g TN A1 Iurefe waeh § aneff o whe TR gu
wrel i et el § fren smom | sneff 3t sHS wid &
Hea 3R vgae # frell off wepr ot fergmfa qr@ S 9w snemeff
=1 wieqT § yew i At FE & St 3R 9 s S
T U B |

sreeff gro forefl w9 % I % w9 ° fey u uiw faeedi 4 @ wh
foreheq Y ISR T ST AT 2 | Ig STUeh! SR gRT Sueied]
FHIY MU heled HIed T A FieA—04 | HET 2| Tedl b 93 & forw
OfeT 1 JERT & R R

et & gom 3 3ifaw g fire o Som foelt oft snweff o6t gomem
(STaere /ateren) § ST < Al T2t & St | feret oft srereff =5
T FET B ¥ F W1y Bred T AT T8 2 |

ferelt oft arwreff =61 371,09, 3. I U=k @iefl Bigd i 31T T4 21

afe g 37.TH.ITR. IT T=1h Wiel TS TSl Faefeh 36 W “‘shid’’
T & ITEIG 31T BT B S 3N 3@ W e forg & o

TR Ak hi ST Foterg T-1eh b+ HETEA § 1 ST | ST =1 TTetq
W T 31.TH. N, I ek FA B Fehal § |

Ffe h1g 3reaeff Iuwder el o1 aTer el ShidT 2 A1 STIITEA T hial
2 1 3w FeugER U g SR S, 3R 8 stfafed
38 wiesy # ft S areft whienstt @ off sfea fan S gewar 21 39
foreg TTOIfres SRIATE] w1 @ i €1 feharn ST Tehel 8 |

Tfe ferelt wom 3 f=t qen TOISh a1aTe § hiE ofR B A oTSH 1A
< B TG S WA |
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Shuffling Pattern for Examination Held on 26.07.2025 Between
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Candidate’s Roll Number / 31%ff 1 T/t T=R

Time Allowed : 1 Hour 45 Minutes
{4y .

1 91 45 fie

TEST CODE : CE1G - 25

Total Questions : 100

et R ¢

T Yiereht S

Question Booklet Number

Maximum Marks : 100

100 31fereRas 316 : 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER

T UY-UH i g1 e § U Ul HfeARad (Hagn ol ue

. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

Before attempting the question paper, kindly check that this booklet
has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

The OMR Answer Sheet consists of three copies, the original copy, the
commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR Answer
Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet should be
filled carefully. Change of OMR Answer Sheet is not permitted.

Do not forget to write Roll Number on the top of this Question
Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

Candidate has to fill one option compulsory out of five options
given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option ). Extra five minutes will be given to
mark 5" option, No marks will awarded against the 5" option as it
indicates that the candidate as not attempted that question.

1.

2.

39 W gfeqen § 100 Y 2 | T 9 % foTT 1 37 B |

TRA-T I FA B Y e FH i o o IR § B 24 78
2 3 30,19, 3N, IW I3 h dF Ufeai & | =i 1 gerg &
Sreft 2 R wdienm Ry g & ot e % st giifted o e
ST T GIETehT 3T 3T TH.3R. IW 7= & aeft T3 37=8t a@
B gu ¥ 3N e feeht i feret oft wehm & aafa T wEh R

ST.TH.3TR. IT T hl A wfaat &, gt fd, i ufq g sweff
i | 3% TCRT-3TeRT 7 L | 3.UH.3IR. IW T H dH- gfc= 3§
TieT! <l ST - 3T Shiell 7 o | el Tlien FHIe g W 3T, 3R,
IR T 1 TR 1 orer R fae widees @l Oiw § | wies
g areeff wf Ster e 3% ¢ & SRt | areeff st Wy we
qfEeh! =i o W1 Hehdl & |

AT GHTET S TR To- iRt S8 T ST.TH. AR, IW T
S TEAT Toh-THH BT =feT | TRt oft wehm <t ferier o St
Irreff ol e T Yo YREehT 31T 3. TH. 3T, ST U SeeraT ot
fgu | wdie IR & % uie fiee v e frmrdl W
fepam ST |

T ATawah e Araeigee 31,09, 3. 3T 0= § 9 € |
3. TR, I T % I¢d h AN Tal 2 |

T VI YfSrehT 3T 3. TH. 3T, I TAeh oh HUL STOAT Jed T forge 1
el | Te-gfETeT 3 37103, S| 9 & fohedt off 758 &1 7
T wE AR T HIS |

Frveff o fer U ute et § @ U fashew v sifEnd @ | afe
Frweff @l ST T T B, @ 38 uiEdl fasmeu (fasew ©) won
B0 | Ot feorhed Wi o fore uie fire stfafie few smdn | wieat
ferehed W WU 1S 37k TEI feu SN ifs gHeh Ig Teba fietar @
Top rwrefl 3 39 WA 1 WA T8l R R

CORRECT METHOD/T&! afisht

WRONG METHODS/ T adieh

®OOD®

®®O00E ARHODOE® @O®C0E PeCO®

8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.

8.

Totd foehed Wi W i fifea mifdh 7t anft | afe sreff 8 v
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Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A) Noor Jahan

(B) Kishori Amonkar

(C) Zohrabai Ambalewali

(D) Lata Mangeshkar

(E) Not attempted

Which figure given in the alternatives will

complete the pattern in the figure given in
question ?

TR
? K&

A | 1 (B)

N

(©) (D)

e

(E) Not attempted

What is the rank of Haryana among
Indian States in terms of software export ?

(A) Second (B) Fourth
(C) First (D) Third
(E) Not attempted

Which of the following equation

represents a straight line ?
(A) y=x"+4

(B) xX* +y* =25

(C) 2x+3y=6

(D) None of the above

(E)

Not attempted

CE1G-25
frafafaa sfwmrt TR @ § % 1930
3 1940 o <wenl § &t fmn & wotent
% fore s ST € 2

G S e e
& T B -E i T HUM 7

TR
? K&

(A) _I\ (B)

(C) (D) %><

(E) 3t

Hirea=y f4ata o "M § ghemm =5
AR Tl | o1 TH 8 7

(A) g&U (B) e

(C) T&e (D) e

(E) 3manfEa

frafafaa o 9 Si-a1 gt s Hef
@t o1 afafifreg s 2 2

(A) y=x2+4

(B) X* +y?=25

(C) 2x+3y=6

(D) U H H g T

(E) 3anfEa
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5.

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English
Dictionary.

1. Prestige
Pristine
Prescribe
Prepaid
Premium
(A) 5,4,3,1,2
(C) 4,5,3,2,1
(E) Not attempted

oD

(B) 4,5,3,1,2
(D) 5,8,4,1,2

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

(A) 6 days (B) 8 days
(C) 4 days (D) 7 days
(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?
(A) Manushi Chhillar

(B) Kalpana Chawla

(C) Sunita Williams

(D) Santosh Yadav

(E) Not attempted

In a certain code language, “in the end”
means “moh fijk omt”, “end is near” means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for
“near” ?
(A) bod
(C) moh
(E) Not attempted

(B) azh
(D) epy

CE1G-25
et foered 1 =34 Fifsie s feu w wsal
1 39 HA | <A1 8, I o TS Tegehisr
T 3§ |

1. Prestige

2. Pristine

3. Prescribe

4. Prepaid

5. Premium

(A) 5,4,3,1,2 (B) 4,5,3,1,2

(C) 4,5,3,2,1 (D) 5,3,4,1,2

(E) ITwmfEa
Ife 6 &5 9 8 gk fopell &R 1 10 fed
H T Thd & AT 26 T¥Y 9 48 TSk 34T

H I 2 fe7 o o Fhd 8, a1 15 o
3 20 TS 39 HE hl HE A fohaT
g o 7

(A) 6feT (B) 8fed

(C) 4fe (D) 7T

(E) 3mvfya
Fr=faRea o @ #19 stafe H T w3
areft ugell U gt 1 afger oft 3t
ST S BRETOT o AT § g3 AT ?
(A) T feem

GEREEIES]

(C) g faferrea

(D) EdIY ATeE

(E) 3t

fereht d HIET T “in the end” T 312 “moh
fik omt” % “end is near’ %1 31 “azh moh
bod” 8 3 “in near future” &1 31 “omt
azh epy” & | “near” % foT¢ e =81 BT 7

(A) bod (B) azh
(C) moh (D) epy
(E) 3manfEa



10.

11.

12.

13.

Which computer was built at Cambridge

University in 1946 ?

(A) 1BM 701

(B) PDP-8

(C) Universal Automatic Calculator
(UNIVAC) 1

(D) Electronic Delay Storage Automatic
Calculator (EDSAC)

(E) Not attempted

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1992 (B) 1949
(C) 1967 (D) 1985
(E) Not attempted

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(B) Banjar

(D) Kalar

(A) Bangar
(C) Khadar
(E) Not attempted

Complete the following analogy.

A /-\::V | ?
4
/A

(A)

(©) (D)

Y
£\

(E) Not attempted

The Sheetala Mata Fair is organized in

which district of Haryana ?
(A) Ambala (B) Karnal
(C) Gurugram (D) Jhajjar

(E) Not attempted

10.

11.

12.

13.

CE1G -25

1946 T Hitsrs favafaamer & wH-@
TR ST TR AT 7

(A) IBM 701

(B) PDP-8

(C) IHade 3tfemfesh hegpetet (UNIVAC) I

(D) i feot RS sAfemfes
Fegpeted (EDSAC)

(E) 3Tvmfya

Tt (gfeor qd wfvmms asg W )

61 T e g3 off

(A) 1992 (B) 1949

(C) 1967 (D) 1985

(E) 3ToRmfya

TUR-ERT ! T bl & W | &ieTr T
2, ST&T a9 o Higq H G161 gF o
IS & BT Hal T &

(A) ST (B) S

(C) EiX (D) el

(E) 3ToRmfya

freferiaa aweaar ot Hife |

B

v

(A)

\
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(A) AT (B) HTA

(C) Teu™ (D) 3SR

(E) ITvmfra
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14.

15.

16.

17.

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.
What is the total marks for the exam ?

(A) 500 (B) 600

(C) 300 (D) 400

(E) Not attempted

The National Voters’ Day is observed on
(A) 30" December

(B) 25" January

C) 25™ November

D) 26" November

(E) Not attempted

(
(

Which canal irrigates Gurugram and

Faridabad districts of Haryana ?
(A) Jawahar Lal Canal

(B) Gurugram Canal
(C) Bhakra Canal
(D)
(E)

Bhiwani Canal

Not attempted

How many times in a day, are the hands
of a clock in straight line but opposite

direction ?

14.

15.

16.

17.
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et Tienm o wsh 3IEfigaR 20% 37 IT
FH % 91¢ 30 el ¥ I & S 2,
Sefeh qHU IFIGAT S 32% 31eh T el
2, 3 I0T 37T 42 37k 3Tfek e § |
wiien $o1 foha 3Tl 1 8 7

(A) 500 (B) 600

(C) 300 (D) 400

(E) TRt

TS Aderar fead aamn S @

(A) 30 feaer

(B) 25 Salt

(C) 25 7aeR

(D) 26 FI&

(E) TRt

ERETT % eI 3R wierEe fel 6
&S SIA—+ T8 Hd 7 7

(A) STETEL ATl &t

(B) eI &l

(C) wrE@sT &t

(DRECIEIEE

(E) 3m=nfEa

e fea o fepat e gl < ggat ue wedt
@1 ° At foadia feemst o gt 8 ¢
(A) 20

(B) 48

(C) 22

(D) 24

(E) 3m=nfEa
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18.

19.

20.

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

Ok

(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?

(A) Zila Parishad

(B) Gram Sabha

(C) Gram Panchayat

(D) Panchayat Samiti

(E) Not attempted

Which of the following are the primary

components of a computer system ?

(A) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(B) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(C) Operating System, Software,
Hardware and Internet

(D) None of the above

(E) Not attempted
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20.
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21.

22,

23.

Anand and Deepak started a business
investing X 22,500 and X 35,000
respectively. Out of a total profit of

¥ 13,800, Deepak’s share is

(A) ¥8,400 (B) ¥9,600

(C) 5,400 (D) X 7,200

(E) Not attempted

Match the following.

National Parks/
Wildlife Sanctuaries

a. Corbett National

States

Park i. West Bengal
b. Sunderbans

National Park ii. Uttarakhand
c. Bandhavgarh

National Park iii. Rajasthan

d. Sariska Wildlife

Sanctuaries iv. Madhya Pradesh
a b c d
(A) iii i iv ii
(B) iv i iii ii
(C) iii iv ii i
(D) ii i iv iii
(E) Not attempted

What does the computer do with the input
received ?

(A) It sends the data to another computer
(B) It deletes the data

(C) It processes the input and generates

output
(D) None of the above

(E) Not attempted

21.

22.

23.
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3T 3R €iueh 3 U T 22,500 3R

% 35,000 1 eIt ek @™ IE oA |
313,800 % Ho ol T & ek 1 e
fepear g 7
(A) % 8,400
(C) % 5,400
(E) 3Ty

(B) % 9,600
(D) % 7,200

freferfiea =1 gofera $ifsm |
T 3T /a=T=ta
STIRTT
a. Hiee T 3T
b. Hetad TR 3T
c. AUATE UL ITH i, TSI
d. TRt =Sl IEIRET jv. HET WeH
a b c d

S

i. afgem e
ii. IAES

(A) iii i iv i
(B) iv i i i
(C) iii iv i i
(D) ii i iv iii
(E) 3manfEa

TS §YC o |1 R FIT HAT & 7

(A) I8 S I G HRIE W HAT &

(B) ¥® ST ! BT &

(C) TE TTYC ! TI8T HidTl B 3N IF$YL
S LT B

(D) I & & H1S T

(E) STwmfda
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24.

25.

26.

27.

Consider the following statements about
Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

(A) Onlyi (B) Onlyiandii
(C) Onlyiiiandiv (D) All of the above
(E) Not attempted

What is the name of the woolen muffler worn
around the neck by men in Haryana ?

(A) Mirjai (B) Chaddar
(C) Guliband (D) Kamari
(E) Not attempted

An article is marked at X 3,000 and is sold
at a 40% discount. If the shopkeeper incurs
a 10% loss on the cost price, then what
was the original cost price of the article ?

(A) ¥1,800 (B) ¥2,250
(C) ¥ 2,000 (D) ¥ 2,100
(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Koka

(B) Nath

(C) Borla

(D) None of the above

(E) Not attempted
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(A) Had | (B) haet i 3T i

(C) had i 3 iv (D) Iuger T+l

(E) 3ToRmfea

EIETOT # IENi g T ® g W A
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(A) TorsTs (B) =mex

(C) Tefte, (D)

(E) 3m=nfEa

Teh 9] W 2 3,000 3ifhd B 3T I8 40%

1 e T F=T A1 2 | A GHMGR hi

SATTd Hoo T 10% 6T 2T &1l 2, d a%g

%1 IRATeh AT Hod &1 AT 7

(A) % 1,800 (B) % 2,250

(C) % 2,000 (D) ¥ 2,100

(E) T=nfEa

EREATUTEt gegAl g 98 S aTell Shia-H1
T I T E T F G2
AT T84 | &1 8T & 7

(A) hrshT

(B) ¥

(C) Se

(D) SugH  § s T

(E) T=nfEa



28.

29.

30.

31.

32.

Where is Chokhi Dhani situated in
Haryana ?

(A) Sonipat
(C) Panipat
(E) Not attempted

(B) Kurukshetra
(D) Karnal

What is the relationship between HCF
and LCM of two numbers a and b ?

(A) HCF x LCM =axb
(B) HCF+LCM=a+b
(C) HCF xLCM=a+b
(D) None of the above
(E) Not attempted

What does DSS stand for ?
(A) Digital Satellite System
(B
(C
(D
(E

) Direct Service Satellite
) Digital Satellite Service
) Direct Satellite System
) Not attempted

Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 = 8 * 64 * 48 = 500
(A) x, +, +, — (B) x, +,—, +

(C) +, -, x, + (D) =+, +, x, —

(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Glaxo Smith Kline

(B)
(C)
(D)
(E)

Ranbaxy

Nestle India

Yakult Danone India Private Limited
Not attempted
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(D) HETA
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(A) H.8.9. xd.89. =axb

(B) HE.Y. + A.HWU. =a+b
(C) 8. xAHYI. =a+b

)
(D) ST # & IS TEl
(E) 3romfya
... o e R 7
(A) Tefsreat deerse fawem
(B) SRER Afdd deaTse
C) fefvee dearse wfdm
D) SrRRee dearse fien
)

(
(

(E) 3manfEa

Tfore ol o1 92 E gie S« fos
1 TTEATIId i T GHishToT sl T&l &4
g |

TR : 216 + 6 * 8 = 64 * 48 = 500
(A) x, +, +, — (B) x, +,—, +

(C) =, — %, + (D) +, +, x, —

(E) 3anfEa
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T O HH-F1 I 3R HE & S Th
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(A) T fory oreTsa

(B) et

(C) &t 3fea

(D) FMPee AN sfean wrgee feafies
(E) 3=nfEa



33.

34.

35.

36.

Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Both 1 and 2

(B) Only 1

(C) Only 2

(D) None of the above

(E) Not attempted

The value of (0.3)3 is

(A) 0.027 (B) 0.0027
(C) 0.27 (D) 27

(E) Not attempted

Which instrument is used to measure the
wind velocity ?
(A) Anemometer
(B) Odometer
(C) Thermometer
(D)

)

(E

None of the above

Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Baje Bhagat

(B) Ali Baksh

(C) Harish Kataria

(D) Pandit Lakhmi Chand
(E) Not attempted
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37.

38.

39.

40.

What is the significance of the ‘Peeliya’
Odhani in Haryana’s customs ?

(A) Sent by parents to their daughter
after the birth of a male child

(B) Worn during harvest festivals

(C) Worn during marriage ceremonies
(D) Given to a bride by her in-laws

(E) Not attempted

What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?
(A) Kangni
(B) Ponche
(C) Anant
(D)

)

(E

Aarsi
Not attempted

If ‘A’ means ‘+', ‘B’ means ‘—', ‘C’ means ‘+,
and ‘D’ means ‘x’, then the value of
18A12C6D2B5 is

(A) 17
(C) 15
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

_bc_ca_aba_c_ca

(A) baaba
(C) abcbb

(B) abbcc
(D) bbbcc
(E) Not attempted
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(E) TRt
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(B) |

(C) 3rid

(D) TR
(E) T=nfEa
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(A) 17 (B) 45
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_bc_ca_aba_c_ca

(A) baaba (B) abbcc
(C) abcbb (D) bbbcc
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41.

42,

43.

44.

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Diwan -
(B) Khan-i-Saman -

Revenue Minister
Home Minister

(C) Vakil — Chief Minister
(D) Diwan-i-Ali — In-charge of
Charities

(E) Not attempted

Perfetti Van Melle India is located in
which district of Haryana ?

(A) Gurugram

(B) Sonipat

(
(D

)
)

C) Faridabad
) Ambala
)

(E) Not attempted

What type of signal does Integrated
Services Digital Network (ISDN) use ?

(A) Hybrid
(B) Analog
(C
(D
(E

)
) Digital

) None of the above
) Not attempted

The common difference of the Arithmetic
. 11-P 1-2P .
Progression —, ——, ———, ... is

) 1 L
1
B) 5

(C) -1
]

(D) -5

(E) Not attempted
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45.

46.

47.

Consider the following statements about
Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.

ii. The Parliament of India brought
86" Constitutional Amendment Act in
2006.

iii. Through 86™ Constitutional
Amendment, Article 21A is inserted
in the Constitution.

iv. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are
correct ?

(A) Only iii and iv

(B
(C
(D
(E

) Onlyiandii

) Only i, ii and iii
) All of the above
) Not attempted

The seasonal river Markanda originates
from which area of Haryana ?

(A) Rajasthan Plateau

)
(B) Yamunanagar Forest
(C) Aravali Hills
(D) Shivalik Hills

)

(E) Not attempted

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Aravali Green Wall Project
(B
(C
(D
(E

Haryana Forest Rebuild Project
Shivalik Green Wall Project
Chandigarh Green Belt Project

)
)
)
) Not attempted
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48.

49.

50.

51.

Badhkal Lake is located in which district
of Haryana ?

(A) Kurukshetra
(C) Hisar

(B) Panchkula
(D) Faridabad
(E) Not attempted

Which number will come in the place of
question mark (?) in the following number
series ?

3,5,9,7?, 33,65
(A) 17 (B) 19
(C) 13 (D) 15

(E) Not attempted

The signs of abscissa and ordinate
of a point in the second quadrant are
respectively

(A) (+ +)

C) (= +)

(E) Not attempted

(B) (=-)
(D) (+-)

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are

correct ?

(A) Both 1 and 2

(B) Only 1

(C) Only 2

(D) None of the above
(E)

Not attempted
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52.

53.

54.

55.

56.

Which of the following cannot be the
probability of an event ?

(A) 0.04% (B) 4
(C) 0.4 (D) 4%
(E) Not attempted

Which of the following is not a storage
device ?

(A) Memory card
(B
(C
(D
(E

Monitor
Compact Disk (CD)
Solid-State Disk (SSD)

)
)
)
) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 45 (B) 54

(C) 56 (D) 68

(E) Not attempted
Select the word from the given alternatives

which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) VERSION (B) REASON
(C) NATION (D) STATION

(E) Not attempted

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at constant market prices

(B) Gross Domestic Product (GDP)
evaluated at per capita income

(C) Gross Domestic Product (GDP)
evaluated at current market prices

(D) None of the above

(E) Not attempted
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57.

58.

59.

60.

61.

Angles of a quadrilateral are in the ratio
3:4:4:7. Find the smallest angle.

(A) 80° (B) 140°
(C) 20° (D) 60°
(E) Not attempted

The Chalukyan style of architecture is the
unique synthesis of which of the following
styles of architecture ?

(A) Nagara and Hoysala styles
(B)
(C)
(D) None of the above
(E)

Dravida and Nagara styles
Dravida and Kalinga styles

Not attempted

Ifa:b=5:7andb:c=28:09, then what
isthe ratioofa:c?

(A) 45:63
(C) 35:54
(E) Not attempted

(B) 40 : 54
(D) 40: 63

What are data chunks transmitted over

the Internet called ?
(A) Segments (B) Bytes
(C) Frames (D) Packets

(E) Not attempted

Which of the following is not true ?

2.5.5.2
A) 3737273
2 5 2 4
_+_:_X_
® 3%273%5
2 5 5 2
© 3747773
) 3%472%3
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62.

63.

64.

65.

66.

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age

of B.

(A) 24 years

(C) 32 years

(E) Not attempted

(B) 26 years
(D) 46 years

Where is Maharana Pratap Horticulture
University located in Haryana ?

(A) Sonipat (B) Karnal

(C) Sirsa (D) Jhajjar

(E) Not attempted

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.

If the total distance covered is 370 km,
then what is the initial speed of train ?

(A) 90 km/hr (B) 60 km/hr
(C) 80 km/hr (D) 100 km/hr
(E) Not attempted

Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) According to the procedure
established by law

B
C
D
(E

) By the President’s order

) By the Prime Minister’s consent
) None of the above

) Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2015 (B) 2018
(C) 2017 (D) 2016
(E) Not attempted
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62.

63.

64.

65.

66.

CE1G -25

A 3R BT 31 1 A 72 B | Al ST

31T T UM 23 : 13 B, d@1 B &I 31
F1a IR |

(A) 2499
(C) 329
(E) ITvfra

BTN | RO Taq SrTEE
fergarferamer wef faa & 2

(A) Giaa (B) HATA

(C) fawmn (D) TSR

(E) r9=mfaa

Teh o x foprt/=ie bl 7ifd & 2 & a%
Tt 7, Tt 319 7ifa 10 forrt/=rer v
L et B 3R fafea 3 5 ek I HLat
2 | afe @@ &1 7T $a gl 370 Tt B, @
o7 <t ik i TR 7

(A) 90 frHt/=ger  (B) 60 ferdt/=reT
(C) 80 fori/=er (D) 100 feret /=T
(E) 3nfaa

AT FI9™ o 3Tgo06 21 H el T
2 Top fopelt oft s o0t 3@k Sfram =
fTd ST O afed T8t fepam s,
fqam

(A) T I TITUT FfshaT o6 STHER

(B) Trguf % IMMeH &

(C) JurH= <Al wedfd ¥

(D) 3w | § 1S e

(E) 3romfya

g § g R EiETet T fee ad
& 61 TS off 7
(A) 2015

(C) 2017

(E) 3T=miyd

(B) 26
(D) 46 a9

(B) 2018
(D) 2016



67.

68.

69.

70.

Choose the figure from the given alternatives
in which the following figure is embedded.

(A) ® (®)

K> > ®

(E) Not attempted

(
=

If sin®0 — cos?0 = 0, then O is
(A) 30° (B) 90°
(C) 0° (D) 45°
(E) Not attempted

Tangri river is a tributary of which river ?
(A) Ganga

(B
(C
(D
(E

Markanda
Yamuna

)
)
) Ghaggar
)

Not attempted

When was the first General Election of
India held ?

(A) 1956 — 57

(B) 1948 — 49

(C) 1951 -52
(D)

(E)

None of the above

Not attempted
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67.

68.

69.

70.

CE1G -25

feu U foeredi ® @ 39 3TRd w1 ==H
hifs fae fFmfafaa smefa foft 5 2

(A) ® (®)

K> ©

(E) 3m=nfEa

A

Be

?TFQ’ sin®0 — cos®0 = O%, a 9%
(A) 30° (B) 90°
(C) 0° (D) 45°
(E) TSR

T & fopg TG hl T HEEE G B 7
(A) T

(B) TREHUE]

(C) 3=

(D) ¥

(E) 3manfEa

HIA <hl 98T 3TH AT <hel AT AT 7
(A) 1956 — 57

(B) 1948 — 49

(C) 1951 — 52

(D) 37 & & 1 e

(E) ITsrierd



71.

72.

73.

74.

75.

Which of the following famous battle was

fought in Sirsa district of Haryana ?
(A
(B

Battle of Gujarat

Battle of Chormar
(
(D
(E

)
)

C) Battle of Thanesar
) Second Anglo-Sikh war
)

Not attempted

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Odisha (B) Rajasthan

(C) Gujarat (D) Uttar Pradesh
(E) Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) Three

(B) One

(C) Two

(D) None of these
)

(E) Not attempted

What is the average of first 40 natural
numbers ?

(A) 20.5

(C) 19.5

(E) Not attempted

(B) 40
(D) 20

The meaning of Phulkari is

(A) An art of shawl making

(B) A large part of villages of Haryana

(C) An art of making clay pots

(D) None of the above
)

(E) Not attempted
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71.

72.

73.

74.

75.

CE1G -25

g & fawan Tt ° fraforfaa o @
HI-T1 g Ig ST T AT ?

frfaRea o @ Sia-a1 s wiar
HEIced 2024 1 HFfeR TS AT ?

(A) 3Erm (B) TSTEAH
(C) TSI (D) 3T e
(E) 3m=nfEa

BT T fehael SR Tsedfa Smee e
™07

(A) T

(B) T

©) &

(D) 38 & g &l

(E) T9=mfaa

TH 40 TTh{deh T3 1 STq =
BT ?

(A) 20.5 (B) 40

(C) 19.5 (D) 20

(E) 3anfEa

BoThil T 37 7

(A) A S T Teh hedl

(B) ERATUM & Tl 1 Uk sl fewm
(C) Tt & §d= s i T Hel
(D) 3T # § s T

(E) 3rvmfya



76.

77.

78.

79.

CE1G -25

English Language

Choose the correctly spelt word from the
following alternatives.

(A) parmanent (B) permanent

(C) permanant (D) permenent

(E) Not attempted

Fill in the blank with the correct
alternative.

I for my pen. Have you seen it ?
(A) look (B) am looking

(C) will look (D) looking

(E) Not attempted

Fill in the blank by choosing correct
alternative from the alternatives given
below it.

He was born 1945.
(A) in (B) for
(C) on (D) at

(E) Not attempted

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.

(A) has been raining

(B) was raining

(C) is raining

(D) have been raining

(E) Not attempted

Direction (Q. No. 80 and 81) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora

(80)

the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(81) tourists visit these places every

year. One can stay in the guest house.

80.

o~

(A) are
(C) is
(E) Not attempted

(B) were
(D) was
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81.

82.

83.

84.

85.

(A) of
(C) for
(E) Not attempted

Choose the correct synonym of the
following word from the alternatives given
below it.

Ultimate
(A) Final (B) Victory
(C) Beginning (D) Famous

(E) Not attempted

Give one word substitute for the following
expression.

A period of ten years.
(A) Pioneer
(B) Cavalry
(C) Decade
(D) Century
(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming

(A) Quite

(B) Fading

(C) Mild

(D) Flowering

(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

To drive home

(A) Back to original position
(B) To emphasise

(C)
(D) To return to place of rest
(E) Not attempted

To find one’s roots



86.

87.

88.

89.

&= ww

fora o /9 ¥4 @ 95d @99 98l FE %
W@ﬁaﬂﬁﬁ%?‘ﬁ 38 FAT HEA & 7

“‘Tgf Tt SR iy off T 319 W TTEeTEl
W®E " I8 form I &1 3w 7

‘SRR | SR el $H WAlehliad b1 Fal
3 3
(A ) 3T g ATH B |

B) Ui ¥ & 3181 Bl fietdl 8 |
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90.

o1.

92.

93.

CE1G -25

H | el weg i g |

T, 31, drfeh, 1, T 3mfe vsg form
T o AT I & 7
NEEEEIPED

(B) fspam fersror
(C) Termnfeaers
(D) THTISIEH
(E) 3Tomféa

‘Rl SIeg < TEl 3 @ g |
(A) =TEA-TeH

(B) TS THY deh L&+ dTedl

(C) Bl % ufd Tg-gfe

(D) IR @l a1 ST o1 Secre
(E) 3m=nfEa

o~



o

94.

95.

96.

ard # ‘fe<l fead’ e TR ST g 7
(A) 26 FHal

(B) 14 1T

(C) 14 THdsR

(D) 15 3RS
(E) 3=nfEa

Fr=fefea ss 0 9 € &1 g=tET=

“qH T SR UG dl e3d T 8l
A | AL TR TR hIeT ST ISR B 7
(A) |HT ¥HdhIA

(B) ¥Y-RGHG HIHTE

(C) T ¥hret

(D) 31l ¥crehret
(E) 3=nfEa

97.

98.

99.

100.

CE1G -25

g + WA = @WrE’ e gfy
IETEW 7 7

ST I1e¢ G AT T I fIRivar sqmd g,
3% T HEd @ ?

(A) Tsram

(B) feriwor

(C) S

(D) fsparm fersror

(E) 3=nfEa

-292.
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SPACE FOR ROUGH WORK
T 1 < foTu Tam=

-23- &
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13.

14.

15.

16.

5

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother's
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

Candidate’s request to change the examination centre and seat in
the Examination Hall shall not be entertained.

The scanned photograph of the candidate on his/her Admit Card or
attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

Candidates have to fill one option compulsorily out of five options
given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

No candidate shall be allowed to go to the toilet/washroom during
first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the
examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.

20.

avreff ol oI U TeRT-us o B, o W g € | i wen vfA
B SN T -G B, W I W e g =T Si&i B foran gan
R 3Eh AN BIA o T Th Ue-T, S Foh grsferm emgdg,
el UNET-T, MR HlS, TdE 37fe T & S Th  Tefl-shg T
AT FAER B | 3 sl i e & i Iatd T8 & Sl |

Sl 1 Femg § S 2 T 3 glftea S 6 3N i umLam.
I Ok W 3neeff st AW, T <hT T, HIAT <1 T, TR g 6
e, e s faf, T, Tet wg%wawasﬁw%mq
Feereort bt fora & Fopell o SR 1 e T B W aref] W
@Wﬁgﬁ%%@m@%lg&ﬂ%ﬁmmm
%w@ﬁﬁnﬁwmﬁmﬁma& Iufeafa-w=re
W, 3M.TH.3N. IR T W 3R TEmies aeia § o 3R st
TR T EE o R |

. il Rl =iaTert &t ST 2 foh o 3N UL 3TR. ST wereR | foneht oft

TR <1 9T 7 5718 37 7 €1 38 HIE | 37 UH. TR, ST U= H $9 oft
forEm 3R s o Uy 34 e o fore Wi, Arem, s, athe @
uenel /amgeR 3ife o1 T o Rt o1 TR @ 3@ &t uge mEE
e 21 37 g eTl o TEINT © TR SR A1 371 UH. AR, ST U | e
U2 B W, TR o (9 g wan et g o srvefi it srvaferar sk
3T TH.3TR. I U= 1 & e e few s

SRR 1 =t & W ® o6 o wATer, Histee B, TRt o TR <
Y, See, Soldriieh A1 TR HeH! I, U, Ui, SR, IR 3 foran
73 firer < foru e werel witen 3 & 9 o S 37 7 & S, =F, FH
T g T et a1 TeReRt oft SR ST SMET UE | S Srgati ok Tner Rt
ot arvreff <t wdter-giet W waw e fozn S | when-het 3 3ty TRt
aneff % urm Afe Ferset B A1 WE € g a5g few Seo S TR
T 7, Rl St R 6 et v iR Seote Amn e 3i afen §
IR AT e &) Sl qen wiosy § off S Al whens
ufera B W ot wferser @ fea s |

e -heg T Iiteds a1 wler-gia § dic & itad & ey o foret
ot arvzreff St yrei W ferem Tl foran s |

wRIgh g TN A1 Iurefe waeh § aneff o whe TR gu
wrel i et el § fren smom | sneff 3t sHS wid &
Hea 3R vgae # frell off wepr ot fergmfa qr@ S 9w snemeff
=1 wieqT § yew i At FE & St 3R 9 s S
T U B |

sreeff gro forefl w9 % I % w9 ° fey u uiw faeedi 4 @ wh
foreheq Y ISR T ST AT 2 | Ig STUeh! SR gRT Sueied]
FHIY MU heled HIed T A FieA—04 | HET 2| Tedl b 93 & forw
OfeT 1 JERT & R R

et & gom 3 3ifaw g fire o Som foelt oft snweff o6t gomem
(STaere /ateren) § ST < Al T2t & St | feret oft srereff =5
T FET B ¥ F W1y Bred T AT T8 2 |

ferelt oft arwreff =61 371,09, 3. I U=k @iefl Bigd i 31T T4 21

afe g 37.TH.ITR. IT T=1h Wiel TS TSl Faefeh 36 W “‘shid’’
T & ITEIG 31T BT B S 3N 3@ W e forg & o

TR Ak hi ST Foterg T-1eh b+ HETEA § 1 ST | ST =1 TTetq
W T 31.TH. N, I ek FA B Fehal § |

Ffe h1g 3reaeff Iuwder el o1 aTer el ShidT 2 A1 STIITEA T hial
2 1 3w FeugER U g SR S, 3R 8 stfafed
38 wiesy # ft S areft whienstt @ off sfea fan S gewar 21 39
foreg TTOIfres SRIATE] w1 @ i €1 feharn ST Tehel 8 |

Tfe ferelt wom 3 f=t qen TOISh a1aTe § hiE ofR B A oTSH 1A
< B TG S WA |

w56
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Provisional Answer Key for CE1G - 25 (Set-3))

Answer Key
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